
�
�
�
�

�����������
	
��������
������	
����	�
�
���	����	�	�����

	

��	�	��	�������
�
�
�
�

�
�
�
�
�

�����������	
��
�������������������	��������������� ��������
����
����������
���
���	����������������
�����

�������
������� �����	�����
����������!"!#$���
�
�
�

�%&�	�����������	����
����	�������
����	
������
��
 �������������'�
�
�
�

�
�����������	� �� 
��������������(�
����	
��)���
��� #*�

�
�
��� � ��+
�� )�� �� ,������ -���
�� �
�� �� ��
� ��� ����	�� ��������� .!��*!/�#�� ��� �������� ��� ��
�����
� 0� ���
��������	���������1 ��
����
�����������
��
�����1�� ����������� ���������
����������������
�	����
����
��	��(�
����	
��������
���������� �	��
������������ ���������
��������������2���������
� �������
�	���� ��
��������
����	
�����3��	�������
��������������0���� �����	����
�������	����������2���������	
���������4 ������
����4����
��������
�����������
� ����

�������0�2�� ��
��3��	�����5����
 ������������
� �������������	� �

� �������� ��� ���
� ������ 2��� ��5�� ��5�+
�
� ��� �
�	� ���
� ����� ��� ���
������� ���� �������
���	�6� ��	��
������������ ���� ��	��5���� �� ��� �������	��������� ��� ����� ��� ���
���� �
 
� ���	�� ���� 	�7 �	�� ���
��	
��
������0������������
����	�����������
������� 6�

�

�

�

�

�



�

���������	
������
���
�������
�������	��	
����

��� ��������

������	�����������
����

� �

�

�

89:&��1;(9":&8:���(&"&��<�18��"�1981�:&�

�

��+
���������
���	���&�	�����������	����
����	����� ����	�5����
���������
���	
���������������������	�� ����6�
��	�� ��
����	
� �
�	����� ���
� ������ �
���� ���� ����� 	��=�	����� ����� ��	����� 0� ����5
�� ���� �
��
� ���
����������� �
�� �
�2��� ��� ��2������ ��� ���	���6�<�� �� �
� ������2��� �
�	����� ������ ����  
��������� ��� ���
��	��
�� ����� �
� ����� ��� �
������� �� ����	���
��� ��� �
 ������7� ��� ������
� �� �
�� ����� ���	
��
��	�������
���
������
� �	���6�

<�� �
������� �� ����	���
��� ���� �
��
� ��� ���������� � �� �� ��� ����
����������� ���� �
�	����
� ��� ��	��
(�
����	
�0���������2��������4����
���
����	
���
�	 ����
�������� �� 
��
���
��
� �����������������0�2� ��
�
����
 �	�����5�������
�������	����������	�������� �������6�

<�� �������	��������� �������� ��� ���
���� >��5����?� �
 � � �	�� ���	���
� �
���� ��� ���������� �3��	�	��� 
�
������������ ��� ��� ���
� ������ �
�	������ ��� ��	�� ��
 ����	
�0� �
� ��� �� ����
����������� �
�� ��� ��	�������
����������� ���� �
��
� ��� ���������6� <�� ��	
��
������ ����� �����
��� 
���	�� �������� �
� � ������ ����
���
 ��������� ��� ���������� �
���� ��� �
��
� 
� ��� �
�� ����� �� ����	���
��6� <�� 5��	���� ����������� 0� ���
����5
� ��� �����	��� ��� ��	�� �
��
� ��� ����������� �
� 	 ������ ��������� �
�� ���� ��	������� ���������� 
�
������������������5���
���
�� ��
������������	�� 
� �
���������������	�6�

,���
��
��
�������������
��������
����	������������ �������� ��
��������
�� ��
�����������	��6������	��
���
� ���� ��	����
���� ��������� 2��� ������	�� ��� � ��
 �� 
� ���	
�� ��
�� ��
� ������� ����	��� ���  �0
��
��
�
�����������������
���������
��
���
���
�2����3 ��	��������
���������� 7����	�����2����������� ��	� ��
�
������5
����
����
����������������6�-
����	������ �����
������������
���6�

<���,���&<����������	��2�����	���
��
�������������� ������	����������	��=�	�����������������������	
���
�����	���	������������
�����������
����	��
���� 
�� �����
��
�4�	
�����������������=��
 
��
�����
����� �5
��
��
����
����
���
���������������
 ���������������
� ����	����������
����	
�0�����
��������	������	
 ��� ���
���������������������6�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�



�

���������	
������
���
�������
�������	��	
����

��� ��������

������	�����������
����

� �

�

�

�������
�

#6 �@��-"1(-1A8�@�<�� � 98@9��6666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666�*�
���������  ������	
����
�����������

��  .......................................................................................................... 4 
      ����������
����

��  .............................................................................................................................. 5 

����������
����

���������������������������������� ��������������������������������������������������� ���������������������������������������� �
�������������
��������������������
��� �������!�!�" 
�
������������������������������������������������ ������������������� �
����#�$�
���������%�
������������������������������ ��������������������������������������������������� ������������������������������������&�

�6� ( 9<B:1-&�@��18��"�1A8 �6666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666���
�������'��!��
��(
)����"
�
���!��)�����
�
!�������� ��������������������������������������������������� ��������������������������������&�
�������'��!��
��(
)����"
�
���!��)����
*�+��������� ��������������������������������������������������� �������������������������������, �

$6� " 1���9��@�<� � 98@9�666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666�#��
������$6#�������
�������� �666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666�#��

#�����
*�
�����!�"
�
������������������������������ ��������������������������������������������������� �������������������������������������- �
*6� @��<9�� : B:,<9��@��(&":1-1(&-1A8�@�<��98@9��666666666666666666666666666666666666666666666666666666666666666666666666666666666666666����

.���/�������
�������!���!�"
����������������������� ��������������������������������������������������� ����������������������������������������� �

.������*+����
��(
)�����
�������������������������� ��������������������������������������������������� �������������������������������������. �
C6� " ��<&��(&"&��,�-"1(-198���D�"��;E9<�9��@��(&":1-1(&- 198�� �666666666666666666666666666666666666666666666666666666666666666��C�

����0��!���!��
��� ����*+������
�������!���!��
���� ��������������������������������������������������� ��������������������������� �
����1�����+�!�"
�
��+�
���!��������"
�!������������ ��������������������������������������������������� ���������������������������������2 �

�6� - 9;1�198���D�-9�:9� �666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666��F�
&�����*���"
�
���
*�
�����!�"
� �!�������������*��� ����

��������������������������������������������� ������������������2 �

/6� 18�9";&-1A8�&�<9��18��"�1981�:&� �66666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666666��. �
,���(
���*�!�"
�����"
�!�����������
)�����
�������� �
�
�!�
������������������������������������������� �����������������- �
,���3	��*�
����!��������������!�������

����������� ��������������������������������������������������� ��������������������������������#� �

F6� 18�9";&-1A8��9E"��<&� � 9-1�@&@�&@;181�:"&@9"&�D��,� � ",(9� � 18&8-1�"9 �66666666666666666666666666666666666666666666�$��
2���(
���*�!�"
���+������0�!��
�
��
*�
�����
������ ��������������������������������������������������� �����������������������#� �
2���4�����!�*��5'�������������
���������������
���� )�!���������

������������������������������������� ���������������##�
2�#��
*�
�����!�"
�
��!�
���!���
���
�������������� ��������������������������������������������������� ������������������������������##�

�

� �



�

���������	
������
���
�������
�������	��	
����

��� ��������

������	�����������
����

� �

�

�

��  ������������������ �� !�

���  "��#$�%���������&������ �� '�

����
��
���	7�����5��
�������
�����=������0�4��=��� ���2�����������������������������	��������������
�� ��
�
����	��
���� 
�������
�6��

��	�� �
��
� ��� ���������� �
��	�	�0�� ��� ��	�� 
��
� �� ���������	�� 2��� �� ����	��� 1;("9�&�
�9-1�@&@� &@;181�:"&@9"&� @�� �98@9�� @�� 18��"�1A8�� �6&6�� >��� ������	��� ��� %�
�������
&� ����	���
��'?���
������	��0�����5
�����
�������� �
���	������0
�
�4�	��
���� 
����������������������
������� �� ������� ����� ��� ������� ���	
�0� �
 ��� ��	 ���� ��	�� ����� ��� ���	�6� �(
�� �
� 	��	
�� ���
����� ��	��� 2��� �
�� �������
���	��� 2��� ������� ����� 	��� ��� ��	�� �
��
� �
�

���� 0� ��	������� ���
��5
��
��������������������������=������� 
����5��� ����0��� 
�����
 �
�	����������4
���������	��
�
��	��
��0���7�����
���
������5
����
����
�����
�� � � 
�6���

<
���������
���	����������
�
����2����������������� ����	���
��
���������	���������	
����	������
 
�
�� ��
�� ��� �
�� ���
���� ��� �
�� ������� �� ������� 0� �� � �
�� � ����	
�� �� ��� ��
�������� ���� 	����� ���
��	��G��� ��� 
���	�� 0� �� ����� ��� ��
���������� ��� ��� ������� �� ����	��	���� ��� ��� �
�������
&� ����	���
���0������
 ��+=����
�	��	������
����	� ���������	������������� ��	��� ���	
����2������0�
���	�� ��� �
�� �� �������� �	�6� � (
�� �
� 	��	
�� ��� ���
 �� ��� ���� ���	�������
���� ��� ��� �
��
� �� ���� ��
 ������2���������
����������������
���������
���4�� 0��
���������
���	����������
�
������	������
�0�
��	��� ��� ���������� ��� �
�
�	��� �G������� 	� �
������ 
� ������
� ��� ����	��� ��� ��� ���
�� ��� ����
�������
���6�

(
�������	�����
�����������������������������=����� 
�������������������=2�����0������
���
�������	��0�
��2������ ��� ������� �� ������� ��� ���5
� 0� �
 ���4
6� � (
�� ��	
�� ��� �
��
� �
� ��	7� ����5��
� ��
�������
���	���2�����2���������2����
��������
�	
�� ��

6�

(
�� ���� ��� �
��
� ������
�� ���� ���	�������
���� ���� � 
��
� �
� �
�� ���� ������ �����	� ��	�� �
�� ���
�
��
6��&2����
�� �������
���	���2���������� ��2����� � ��� ���������� ��� ��	�� �
��
� �����7����������� ���
 �����
����������
���������
����������
����
�5���
� ����
�� ���
�����������	
�����
���6�

��� �
��
� ��� ����5�� �� �������
���	��� �
�� ��� �
��

�	 �� ��� ���������� ���  �����
� �� ���5
����

��2������
��	� �����������������	���	����>$?�0����	��>/?��+
� 6��

�

�
�
�
�
�
�
�
�
�
�
�
�



�

���������	
������
���
�������
�������	��	
����

��� ��������

������	�����������
����

� �

�

�

��(����� ����) �� !�

#6�6#:��
�����
��
�

� ���$��*+$�*��,* � -�����
� � ���$� -.�+�/ � 1�5���
�

� ���$���/����)��*���� � �
8
�@�����������
�

� �� ��� 
���*� � ���
#$����/���+� �

;�����
��
��������	������
���6�


 ���*� �*�*� �*�
�$����������  �
���0- �� � ���
�*�+����*�� ����

@�������
��	��
��������� �

� �� �*� ������*���*��
����$��*�+��* �

1� 
�������
�

�

#6�6�����	
������(
�	��
��
��-��	
����0�-���������� ���������5
�


 0-��� ���� 1��+ �� ����
) �� � (���������-
	
�E���

��

� �2+��*� ��� ��+��-$����� *��
&��+ ������) �� � ������ ��
��1 ��
����
�����������
��
�����1�������� ��6&6�

��+��*������$�+ ��*� E���
�8���
�������-
�	��"�����

�&��+������*& � E���
�8���
�������-
�	��"����

�*��)��*������������& �

�

��+��*���*��)��*� �*! ��
�������-��������
������"���5
�-��	�
� ���������� 6&6�

�*��)��*���� ���-"�&�$H�

<�������������������������
����	�����������	������� �������
���������5�����0�����
�������
�� ����	���
��������
��
6�

��+��*���*��)��*� �* ����	���-
�	��"����-��������
������"���5
���6&6�

�*��)��*���� ��11�$!>���?�

<�������������������������
����	�����������	������� �������
���������5�����0�����
�������
�� ����	���
��������
��
6�

<������
�������������	����
�����������������������
 ��������� ��	���6�
�

�

�

��������������������������������������������������������

 



�

������� �	
������
���
�������
�������	��	
����

��� ��������

������	�����������
����

� �

�

�

#6�6$�;
�	
���	
��
��
 �


 �+ �����*��0����� � ,�I�C����������


30�� ����
�*�+����*�� ����

*$+ ��,*�*� �
#������

�*� �� � 0��*�� ��� �*�
�*�+����*�����

,�I�C6�������>����
� ���
�������?6�

�����0���+ �����
) �� �

8
�	���������� ���	
�

����& �	�	
� -"18:��<�#���


 �+ �02��0 ����
�*�+����*�� ����*�
�0�+���#$�����
���0�+*��*��) �� ��
� &�*���*�� �2+��*����
	�/�������4��$-����� ��
� �+ ����� ���*�����

�/�����	�������
���6�

�

���5*�067�0*��*�*��*�
� � �*����������889����
�*���*�+����*�� ����

�

J��	�� #�� �+
��  7��� ��
���	��� ���� �=�� ##� ���
��	�� ���� ��� ��#$��
��������
� ��� ##� ���
��	�� ����������$6�

�
�
�
�%�$�*�:$�2���* �

�
�
�
$!##�!*��///�

�

�

(�  � �2+��*����	�/��������

�6#�(
�=	�������1��������������	��
�����������
��


 ���*����� ��
/*� �������#$��
��+6���/��+�� �
���) �� �

�
<����������
���� ���� �
��
� ��� ����	���7���3������� � �	�� ��� ��������  
����� ��� ����
� ��5������
�
�� ��	��
�� ,���
�� ��� & G����6� � &�� 7��� ��� 	
	����� �� ��� �
�� ��	��
�� ���� �
��
� ��	��7��
�3������
����������� 
����6 �

��� �����
/*� ����

��+*���� � ����+*.��067�0 ����
��/�������

����	��
� J��	�����#��K������
��
�
�3��	����
�����
����

���
�������������������6�
���
������������� -�����
������	
�>#��K?�
���
��������
����
�� �K�
(��	�������
��������
��
��������������� �K�
(�
���	
����	���	����
�� �K�
���
���������
���
�����	�	�����
������ �K�

�
�*2����4; �
���+ ����
�� ��0�� ��

�*2��4; ����+ ��
� ����+*.��067�0 ����

��/������ �
�
�
�

;�����
�<
��������	
��(�����
6 �

#��K6���� �
��
� �����	��7� ���
	=	��
�� � �	��
�� �
�� ���
���	
�� (�����
�
�
�	����������� �
�� 	=	��
��



�

�������!�	
������
���
�������
�������	��	
����

��� ��������

������	�����������
����

� �

�

�

���
���� ����	��� �
��
5����	=�������	��������	��
6 �
�
�

� ����+�*�����
067�0*����$��� � �
�0�� ��

#��K� �

� ����+�*�����
067�0*����
 ���*�� �������
��� �+ <�� �������
/����� ��*���*, �

-67�

� ����+�*�����
067�0*����
/*� ����
�7+�*�.�� ��

����
��
��
���	7���	
��
��
������
�����	���������
�����3	���4��
�6 �

� ����+�*�����
067�0*����$�*�
�0������

�667�

�*��)��*��������
����& �02��0*�
�7�&��*�*�� ��
/*� �������
��$�*�

��� �
��
� �����	��7� ��� 	=	��
��
� �	��
�� �
�� ��� ���	
�� (�����
�
�
�	����������� �
�� �
� 	��	
� �
�
������� ������������� ��� ����5
� 0��
2��� �
�� 	=	��
�� ���
���� ����	����
�
��5����	=�������	��������	��
6�

�+�*��� �2+��*�����
��/�������

J��	�� ��� ��K� ���� ��
 ���
� ������ ��� �
�� ����
��  ���� ����� ��� �
�� ��	��
�� ���� �
��
�
�
��7� ���� �����	��
� ��� ���	�� ��	
�� ���������
�6� � � �� 	��
� ��� ���	�� 2��� 5������� ��	
��
	=	��
�����7�������	����4�6��

��� ������  ��	����� ����	��
� 
� �������
���� ��� ���
��� � ��5
����
�� ��� ���� �
���� ���
���
����
�5���
���6�<
��	=	��
��2������������	����� ���	���
��
��
��� �	��
���
��������	
��
(�����
�0��
��	=	��
������	����
��5����	=�������	�� ������	��
6�

� �2+��*��*�*��*�
*�0����+�*�����4�
� �+� ������*����#$���,�

8
�&������
�

�

�6��(
�=	�������1��������������	��
���� 
�������
��

�
��� ������0$�-����

�
1� ��������
-
 �����������
�����	��������
�������
��� ���2��
���
����	���
�����6�

� ����+*.�� 02��0 � ���
��/������� ��� *�+�/ ��
��0 -���*�� ��

&�� ��
�����F�K�������
 ���
�
����������
������
�� ���������
�
�� ��	��
�� ���� �
��
� �����7�
��	��� �����	��
� ��� �������
�� ������� ������
�� ���	�
�
0L
� ������ ���� 	����	
��
�
����
���6 �

�*2����� ��������$�����
$-��*��� ����0$�-����

<
����	��
���� 
�������
���
��7����	���������
��	�� 	
�������	����	
��
��
�	����������
�
 
��������3	���
�6�

;�����	��  
��������
���� ��� ��
����	
� ��� �����
���7� ���
� ������ �
���� �����	
��
�����=���
�� ��� ��� ��	���	���� ��5��� 2��� ��� �	���
��7 � ����� ��� ��2��������� ��� �������
�� ��������������3	���4��
6�

���+��� ��02��0 ���7�&�� ��
*�� ����0$�-����

M���� ��	�� �
��7�� ��2�������� �� �������2��� ��	G�� �
 ��	����
��� ��2�����
�� 
� �
��
2�������	����
��������	�5N��������
������
��������� 	
�	G����
�0�2������ �� ������
������� ���������� ��	�6� <
�� ������� �� ������� 2��� �� 2������ ��� �
��
� �����7��
�
������� ��� �
����	
� ��� ��
������� 0� ������� ��� ����� �
�� ��� �������	
�� ��
� 0�
����	�����6���

@���
�� �� ������� ������� ��������� ��� ����2����� 

��� ���� 	����	
��
� ����
�����
��	�������
�� ��� ���� 

��� ��� �������=��� �
���������
 � ��� �
	������� ��� ������
��
� 0�



�

�������"�	
������
���
�������
�������	��	
����

��� ��������

������	�����������
����

� �

�

�

����� ���	
� ��
�� ��
�� ��� ��	��
� ���  ��	��� ���	
� � ���  �� 
� 0� ��� �����
�
��
����	
������2��������6��

&����
��� ��	��� ��� ������ �
��������� �
�� ��2�����
�� ��	������ ���� �� ������ 0� ���
��	�����
�� ��� ��� ��5
��
�� 
� ��� ���
� ��� 2��� ��	�� ��� ������	��� ���
�����
� ���
�
	������������2������0��
���������
����	
�6������ ��	�������
��������7��
 
����	��
��������
����	������
 �����
�������
�����������
�0� ��������6 ����

� ����+�*�����067�0*����
��&��� ���� /�����+������
$����#$���� �

��� �
��
� �
��7� 
�	����� ���	�� ���  73� 
� ���� #��K� ��� ���� ��5���
��  ���������
��
������	���������� �� ������
����=�����
�4��=���� �
��������
�������	�������	���
��� �� 
�5���
����������
�
���
�� ��
6�

� �2+��*����*�����*0���+ �
�����0$�-����*����� �*�� �
� 0�*=2*�����*�� �*�*��*�
�*�� ����*��*�0����+�*� �*�

�

8�� �
�� �������
���	��� ��� ���� ����
���� �=������ 
� 4�� =������ ����������� �
�� ���
�� 
� 2���
�
��
� ������ �� 
�5���
������	��G����
�� ��
������ ��������������	���
������
��
������� �� ������� 2��� ��	�5���� �
�� ��	��
�� ���� �
��
 6� (���� ��	
�� ����	
��� ��5�� ���
����������� ��� 5���
� ��
�� ��
� ��	��������� ��� ��� "�5 �� ��	
� �������� �
����
�
���������&� ����	���
����0��
��
�����1��������6�

� �2+��*��*�*��*�
*�0����+�*��������*+�*� ��
���� ��*�#$��������

��� �
 �	G� ��� �������
����� ��� �
�4��	
� �
�� ��� �� ��� �	������� ���� �
��
�� �������7�
�
��	��	� ��	�� ��� ��	��
� ���  
�
������ ��� �
�� ������ �	���
��� �
�� ��� ���� ���
����	������� ���� ������� 2��� ��������
�� ��� ��� �	���
� 
� ��	���������� ��� ���� ��5
�� �
��
�
����	
� ��� ��2�����6� <�� �� ����	������� ����	�� �
�� �
�� �������
�� ��� ������� ��� ���
4��=�������
����������������
������������
���=��
�� 
��������
�
�	��
���
�����������
�
��� �
�� ���
�� ������	��
��� ��=� �
 
� ��� ��
������ �
�� �
�� �
��
�� �	�����
�� 
�
��������
��������	��
�6�

-����
���������	���
���
������
���
����	
������2��� ���������	������	���
��5����
�
������
����$���=�����	������������
�������&� ����	� ��
������������7������2�����
�����
���	������������	
������������������G��
����
������ � 
�	
��������
�0������	����
����
�
	��	���2���	����������
���	���
�����������������
 ���
���5����������������������� ��
�	������6�

��� ��� �
�� ��5����	���$�� �=��� ��	�������� �
�	��
�� �� ���	��� ��� ��� ������ ��� ���=
� ��� ���
�
	�� ������	�� ��� ��� �7����
� ��	���
��� ��� ����	�� �
� � �
����� �
� ��� ����������� ���
�
������� &� ����	���
��� ��
�����7� �� ������� ���� ��5� ���� �
	�� ��� �
��
�� �
�� ���
�����	������ ��� 2��� ��� ����	�� �����7� �	�������� ��� ��  ����	
�� ���
� �
�	����
� ���
��
�����7����� �	���������
����
������
������5����6 �

���������	�� ��� �	���
� ��� ��� ��5
����� ��2������ �
�� � �� ���

� �5����
� ������
�� ��.���=���
��	���������������	���
���
��������	�����������
��� ���
����4��=���
�������2�����������
�����
���
�����
��
���5���0���������
6�

�+�*��� �2+��*�������/�������

�?� ��� "�5�� ��	
� �
���� �
��������� &� ����	���
���� 0 � �
��
�� ��� 1��������� �
�
��������������5������ �	��������������2������������ ��������� ���������
���
����������
�
����	�4��� �
�	��	�����������	������ 
����������� ���
��
��
��7���	��������	�������
����
�
�������� ������������
����	�
�
�����������	� ���	
��
�����
���6�

�?� <�� �
������� &� ����	���
��� 	����7� ��������
����� ��� ��� ��� ��2��������� ��� ����
��
��������� 2��� ��	�5���� ��� ���	���� ���� �
��
6� ��	
 � 2������ ������ 2��� ���7� ���
�
������� �� ����	���
��� ���� �
��
� 2����� 	����7� ��� � 
	��	��� ��� ���5��� �
�� ����
���	���
�� �
�� ������� �� ������� 2��� ���7�� ���	�� ���� �
��
�� ��=� �
 
� ���
�
����	������� ��� ���	����� ��� �
����	������� ��� ����� ��	���
��� ��� �
 ���� ���
�� ����������
�����
������	��
������ �������2����
 �
����������	����>�
 ��������
��������������	�6?������������5�
5�7��������-
�	��" ��������
���� �������0�������������

���������2���G�	
��	��5��6�



�

�������#�	
������
���
�������
�������	��	
����

��� ��������

������	�����������
����

� �

�

�

�?� ��� ����� ��� �
��
� �
�
� ��2�����7� ��	��
�� �� 
���� ���
�� ���
 ����
�� ��� ��������
��	��
����������� ���	�� ���#��K�����
����5���
���
�� ��2�������������
���� ��������
�
��7���
�	��	�������� 
���������	��	�����������
 � ������������
��
6��

8
� �
��7�� ��2�������� ��� ��������� �� ������� �� ��� �
� ������ �� ����	���
���� ����
�
��
��� �����	��
�� 0� � �����
��� ��=� �
 
� �� ���� ���� 
���� 2��� �
� ��� ���	�� ��� ���
5���
������	��G����
�� ��
6�

<
����������� �������2�����	�5�����
����	��
������� 
��
��
��
��7�����4����������
�
���	��	����������
��	�����+
���
�	��
�������������� ���������������"�5��	�
�(�����
���
�
 ���������
��
6�

<���� ���	
��

����*0���+ ��� -���
� �+�*+*����������&$� ���

<��� �
 ��+=��� ��� ��5��
�� 2��� ��� �������� �������
�� � �� �
��
�� �����7�� ��	���
��5��	������0���	
��
������
������������	���������� ������������5��
��0��
�	����
��
����������������� =�� �����%&'6�

:
����������
��������������	���
��
������7�����5��� �������� ��
����
����������
��
2���	��5������ ��
���������5����	����
���	�������?� 1������
�>�������
��������0���0
��
1������
�����
�2����0� ���
���0���+
���
���� 
?���� ?�1����������0������
� ���	
��
���?� �
������
���� ��� ��� ��	�����
�� >	� ��
�� 0� 	����  
	
�� ������
���� �
��7�������
 ��� 
	
��0� ���5
�� ���	���7��
�?�� ��?� �������0� ���� � ��0� �?� 
	��� ������ ��� ����5
��
����
����
 
�� 
	=�������5������
���5�����
� 
����� ���������+
� �����
�
�
���	
�����
����
����  ��� ��	����
������� �
������� ��� ���=���
�� � 
�	��� ��� ��
������� ���5�������
��=��� ��� ���
���� �� 
�4�	
�� ����������
�� ��� G�	
��� � 3��
����� �� � ��
����� 
� ���
�������
� �������
� ��� G�	
��� ��=��� ��� 7��
����� ��=�� � ��� ��	����� 0� 	
����� ���
	���������������
������	�����������0��� ����������� �	
�����������
�6 �

����*0���+ ��� -���
���*�*�� ���<�
��0 ���*�� ���<�0�. �*��4�
*0���*�� ���������0$�-����

<����
����������� ����	���
���������������	������
� ����5
�����
��
����������
�����
�� 
������
���� 0�  �4
���� �� �
�� �� ������� 2��� ��2��� ���O� ��=�  �� 
�� ��� �������
�����
��� � ������
���� �� �
�� �� ������� ��2�����
�6� � �� �
�	
� ��� ����
� ��� ����
��������
����� �� 
������
�����  �4
����0� � ������
�� �� ��� �
�� ��	� 
�� �
���  �����
 ������������������5����
� ��
�������#CK��������
�� ������ �����6�(�����������
�����
��������
����� �� 
������
�����  �4
���� 0� � ������
�� �� �
�� �
����	�4���  �0
�����
��� ���� 0� �����
� ��� �� ���� �
�� �
� ��	������
� �
�� �� � "�5�� ��	
� �������� �
����
�
���������&� ����	���
����0��
��
�����1��������6�

����*0���+ ��� -����*�
���*�����4�$� ���������/*��

����
��
��
��7������������������������� 
�	�
������ �����G��	
�6�
�
<��  �	
�
�
5=�� ����� ������ ��� �������� �
����	�� ���2� �� ���� 	
	��� ��� ��5���
��2��� ���
�
��
��������������5��5��7���
��������
����������
� �����������5
����������������������

���5���
�����
�	��=���6������7����
�������7�����
�  �����������������������������
�����
�������� ���	
�� ��� ���

�� ��� 	���� ��� ��	��G�� 0� ��� � 
� �� ��� ��5
� ���	���6� � ��� ���
����	
�2�����5���������	����
�����
�������=�������7 ����
�������������������4��	��7����
�
���������
6��
�
<�� �������� ���7� ��������� ��� ���������� ��� �
�� ��G��	 
�� ��5��� ��� ����
��������
��	������������������
�	��	
������������ ���	
6�
��
������
����2������ 
 ��	
���������
��������5
������ ��
������
�������
�	��5����
��
������
�����
	��������	����0�������
�����	�������
� ����������
���������� ���	
�
�
�
�� � ������ ��� ���	�������
���� ���  �����
� ��� ���
� � ��� �
������� �� ����	���
���
��	�� ����7��������������������������0�������	����0 ����� 
�	
��
�����
�����	�����
��
���	������	���
������������������ ��	����7��������� ������>�
�?���5����	�>�?���5
>�?����
���������>��?6�



�

�������$%�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

�
��	��  ������ 
� ���7� �	���
����� ��� 	
�
�� �
�� ���
�� � �� 2��� �3��	��� 
������
����
�����	����������������
��
�������
�����
����������� ����������6�
�
��� ������	�� 2��� ��� ����������� ��� ��� ������	��  �	
�
 �
5=��� ��� ����� �
� ����	�� ���
���	��������� 	
	��� ���� �
��
�� ��� �
��=�� �������	��� ��� ���  
�	
� ��� �
�� ��������
��
�=2���
�������	���������	����
���������
���	��� ��� ��� ��	�6�&�=� �� 
����	����������
�
� �
��	�	�0�� ���  ������ 
� 2��� ���	����� 5����	�
��� ��� �������
���	�� ���
����� ���	
���	�� ����
6�

�

��#$�0*����)��*���*0���+ �


�/���067�0 ����
����$�*0���+ �����) �� �

J��	�����*�K��������
��	��
�6�


 ���*����� �+�*+*�����
����*����$�*������) �� �

@���������	��
���������6�

�

�

>� ����& ������� �� �

?��= ��	�/���� ���+*!�
�
� ������& ��� ����+$*�� ����#$�<�����*� �����$����� <��$�����*)��+*������$0���0���+ ����� �� -.�+�/ ��
���� ) �� <� ���+$�-*�� ��� /*� �� ��� �*� �*�+��*� 4� ��� �* �� ��/���� ���<� &����*�� $�� �����0���+ � 0�� �� *��
�����*� � <�����$��/�<��*$�*������%����*�����$����/ ���� ����������-��+�����������+��#$���������& �) �0 *�
�*�+������$*�#$������/������@������0-*�& <�����*�0* 4 �2*����� ���*� ���$����0�������4�&��+� �*������*� �
��&$���+���*� +*�� ����������/��6����� ����+*����<� �*�*��/*�$*������)��+ �#$��+����6��� ��-�����/��+ � �
����*���/���������
� ���������*��������& ��*�� ��#$������$����/�����)� ��+*� ����) �� �� �!A�
�

>������ ���������& �

��� � ������������

����& �� ��� +*�*� ��� ��+��%�<� +�� � ���
�*0-� �����)�*������

��� ��	�� ���
�� ��� ���
�� ��� ���� ���	�������
���� ��� �� ���� ���� ����	��
�
�
�� �������
���� ��� ���� 	����� ��� ��	��G�� ����  �����
 �� �������� �� ����
�
�=	����� ���������� �
�� �
�� 5
�����
��� ��� �� �
�� 	� ���� �
 
� ���
 
��	���
�� ��� �������� ��� �� �����
� 0� 
	�
�6� (
�� �4�  ��
�� �����
� ���
�
�=	����  
��	����� �
�� ���	�� ���� E���
� -��	���� ��� � 3��������� ����
	����������	��G������ �����
�0��
������� ���	
����� �
��	=	��
���
��=��
���� ����	��
�� ��5�	��� ��	��� �
�� �
� ������ �
�� "����  ���	
�� ����
�
��
��
��=���	������
�������������� ������6���	��	 ��
��������5
��
�
��� �
������ ��� ������������� �
��  ���
� ��� ��� �������� �� ��� �������	���
� ��
����� �
�� ����	
� �
� �������� ��� ��� ���������� ��� � � ��
�� �����
����������	��������
���5���
���������������6�

����& �������#$���,� ��� ��� ����5
� ��5��
� �� ��� ���	�� ��� �� ����� ��� ��� ��� 
�� 0� �
 
�
�
����������� �� ��� �������	��� ��� ���	�6� ��� ��� ��
��� ������� 2��� �
��
 
	��
�� ��� ���� �
�����
���� ��� 
���	��0� �� ����� ��� � ��  �����
�� ���
�
��
� �
� ������ ������� ���	�� ��� ��� ���	���� ��������� �� ��� ���
 
 ��	
����2�����2�������
���
��
����
���
��������� �
��=����	������
��� 
 ��	
������������������
��������
���
�����	��� ����������
���	��

� ��������� �
�	
�� �����
������ �
�� ��� ��5
�������� �� � ���  �����
�
���������
6�



�

�������$$�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

&����
��� ��	���
��=���3��	����
�����2����
���� ��� ��
� ���������
�
�����	�� ��� 	�� �
�  73� 
� ��� �
�
������� ��	�������
� ���#�� �+
�� ��
���	�������##������	�� ����������#$��
���
�2������� 3��	���������	�������
�����	�� ����  �����
� ��� ���
�0� 
���	��� ���  �����
� � ��������
� ����
 �� ��� �
��=��� �
 ��	��� ��	��� �=�� ���� � ���5
�� ���  �����
�
���������
� ��� ������ �
��������� 
	�
�� �
�	
�� ��
���� 
�� �� ����
	��������
���� ��� E
����� 	����� �
 
�� �
 ���
���� ��� � 
���� 0� ���
�
���	�4�6�

(
�� 	��	����� ��� �
��
�� 2��� ������	��� ��������� ��	� � ��� �������
�� �������� ���� ���	�������
���� ��� �
�� �
��
�� ��� ��� �������
�� 
�������
�� �
��=���  
�	���� �
��� ��2����
� ��� ���  �����
�
���������
6�(
����	�� 
	��
���
��3��	��5����	=����� ������������
���	��
2��� ���� ���	�������
���� ������� ���� ��5
������� ��� �� �� �
��� �������
����7	������������
������	
����������
��������
� �� ���� ��	������
��
��	��
�����������
�������
��
6�
�

����& ���*0-�*�� ��
@����
���2���������
�����������	���������
��
������ 5��	��������������
��	��
����������� G�	�� ������ ��	��� �3����	
� �� ��� ��� ������� ��� ���
�
	�
������ ���� ������ �
�� ������	
� �� 
	����  
������� �
�� �
� 2��� ���
�������
���	�� �
��=�� ���
�	��� ���� ��� �������� ��� �� � ����� ���	
� ���
�
�	���
�� �� ��� ��2��������� ��� ���� ���	�������
���� 
 �	�� �
�� �
����	���
�
��������
���������
����
	��� 
�������0
����
����� �����������
6�

����& ������*�� ���*�� ���������� �+ � -
�� ��� ���� ��� ���������� ��2����
� ��� �
��
�� ��� �� �� ��	������� ������
��������� ���  ������ 
� ��� ���
�	
��� �
�� �
� ����� ��� � 
��
� ��	��=��

�	������
� ���� 
���5������ �� ���

� 0� �
�� ���
�� ��� � ��0���
� ���
����� ���	
� �
�� ��� �
�	
� 2��� � ������=�� ��	��  ����� � 
� ���
������������6�&����
��� ��	���
���������
�	
�����5� ������
��� �����
������ ��� ���

�� 0� ��� �
� ���
������� ���� �������� ��� 	
� ��� ��� ���

�
���	��
�� �
�� �
� ����� ���5������  �0
�� �����	��� ���� ��� ��� ���4
� ���
��4�������
��
6��

<��� ���
�	
�� 	� ��G�� 	������ ����5
�� �����
������ �
 
� ��� ����5
� ����
�
 ����
�� �� ���

�� 0�� 2��� ��� ��	�� ��	������� ��� �
�� 
� ��	��=��
��� ����
� ���� �
������� ������� ��	��� ��� �
 ����� ��� 	 =	��
� ��4�	
� ��
��� 
������
���� ��� ���
�	
� ��� ��� ���

� ���	��
�� ��� � ���5
� �2�=�
� ��=��	
�����������2��������� 
 ��	
������ ������� ��
 ���������

�
�
����	��5�������2����
���������	��0��
���
�	��	
�� ��	=	��
����	��5��2���
��2������ �
�� ��� �
�������	�� �G������ ����� ��� �
��
�0 � ��� ��� ��������
�
�����
�����	������������� ���	
���	
����������	�� �6��

�3��	��	� ��G���������5
����������
�������

������� 	�����
�����
��
�
��� �� ���� �
������� ��	���� ��	��� ��� ������� ��� 	=	��
 � ���0����	��
��4�	
���� ���
�	
� ��� ��� ���

����	��
�� ��� ����5
��2 �=�� ��=��	
���� ���
2������ �
 ����
�� �� ���

� ������	�� ���� ��	������� ��� ���2����
�0��
��
�
�	��	
��
����������
�	������	=	��
����������

��� �	��
���
���
������
��� �
��
� �
� 	����=�� ��� �����
� ����	��
� ��� ���  
 ��	 
� ��� ��� �����

��5���� ��	���
�	��=����	������
��	� ��G���������� �����������������
��2��������� ���� 	=	��
� ���0����	�� �
�� �
�� �
������� 	��� �
�	
�� �
��
���5��� �� ���� ��	������� ��� ���� ��� ���	
�� ��	
� 5��� ���
�����	��� ���� ��� ��� 	��	
� ��� ��� ��������
� ��� ��2��� ������ ���� 	=	��
�
�������
��3��	�����2����
������	������	�� ��	
6��

9	�
� ����5
� ��� ��� ����5
� ��� �����
�� ��� ����� ��� �2�� ���� �����	��� ����



�

�������$��	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

2��� ��� 5������ �
�� ����2����� ���������� ��� ��� �����
� ���� 	=	��
�
���0����	�� 2��� ��	7� ����������
� ��� 
��������� ��� ��� 
�	
�� ��� ���
���
�2�������
��
�	��5�������
���������	����������� ���������������
�
������������� ��� ��� 	
	������� ��� ��� ���������� ��� ��� �
�	�����	��
���� ���� 0� ��� ���
� ��� 	����� ���� �
������� �������� �� ���7� ���
��� ������ ��� ������� ���	
�  �����	�� ���	��� ��� �
��� ����
������
���� �
�� ��� ���� ���  �4
���� ��� ���4
� ��� ��4�� 0 � ��� ��2����
� ����
�
��
6��

(
�� ��	� 
� �3��	�� ��� ����5
� ��� ���
�������� 2��� ��� 5 ������ �����
�
��5���� ��� ���� ���	��� ��� ��� 
��������� ��� ���
�	
� ��� 	���� �
� �
����
�
�� ������
�� ��������
�� ����� ������ ����	�� �� ��� 
��� 5������ 0� �
����	��
�������
�������������
�������������������
�2������� 
��
��
��������
�
������� ��	���� ��� 5������ ��� �����	��� ���� �
�2��� � �� �
 ����
�� ��
���

��
����	��������
���������
���
����������
��
� 	����7�2����4��	���
��� ��2����
� ����� ���� ��� �
���������� ��� ���
���� ��� � ��
�	
O� �
�� 
	���
���	�� ��� ��� �
��
� �
���� ���� �
������� �������� ������ 	�� ��� ����5
�2���
��� ���  
 ��	
� ��� ��5��� ��� 
���5������� ��� �
��
� ���� ��� ���
������
���
� ��� 
	��� ���	�� �
� ��	G��������	�� �� ������
�� �
� � ��� �
�������	��
�4��	�� ��� ��� ��2����
� ���� �
��
� 0� ��� �
���������� �� ����
� ��� ������� ��
���
������2����������������0����	�6�

����& �� ���*+�/ ��4�+��� ��&�� � ��� �������� ��� ����5
� ������
���
� �
�� �
�� ��
���
�� 
 ����	��
�� 0� ���
���	��
� �� 	���
��5����2��� ��� �
������� �� ����	���
 ��� �	���
�� �����
5��	�
��������
��
6�����������	��
�����
���������	7 ��3����	�����������
��� ����  ������ 
�� ��� �
�	�
�� ��	���
� ��	�� ���
����� �������� 0�

 ���
���� ��� ��� ����
���O���	�������
����� ������� �� 
��
���������� ���
�
�� ���	� ��� ���
� 7	��
��2��� �	���
�� ����� ��� �� �� ��	������� ��� ����
��	��
��0��3������	�����������	��O����
�������	���� ������

����������
0���5�� ���	
����������
������
�����	��	
�����	���� ��	������
������
��
��� ��� �� ����	������� ��� ��� ���	���� �� 
��������� 0� � �� ���
���O� ��	���

	�
�6�&�� �� 
� ��� ���������� ��� �
�� �����	��� ��� ��� ��� ���� ����	����
�
�� ������� 	� �
������ 
� �
�� ������� ��� ����	��� ��� � �� ���	��
� ��
	���
��5���� 0� ���� �������
�� 
� �
�� ���� 5��	���� ����� 
������ ��� �
��
��	��
�������
��
���
�2����
��=�������	������ ����� �������
��	
�����
������	�����������	���������5����
�����0�����
����� ��������	���
����
�
�� ����� ���	
�� 0� ��� ���
�� ��� ��� ���	���������� ��� �� �
��
�������
���	��6�

����& ����&*����

�

������������������5
�������
���
��
������
��������� ����2���������������
�� ��
�� ��� ���� ��5�����
���� 0� ��0��� �3��	��	��� ���  �	����� ���
��� ��
��� ��5���� ��� ����������� � ����	
��� �
�=	���� ��� ����4�� ��5����
��	���
	�
�����=��
 
�������
�������������2�������
 ��
�
�����
�������
�� ����	���
��� ������ ��������� �� ��
���
�� � 4�������� �� 
�
�� ����	��	��
�� ����� ������ ������ �
�� ������
�� ���� � 
��
� 
� �����
����������������	���������� ��������	������	����
�� ���	�����
6��<��
������������������� ��������	��������� ��
���������� 5��������
���0���
�������� ��5�	��� ��	�� ��� �
�� ��	��
�� ���� �
��
� 
� �� � ��� �
�������
�� ����	���
��� 
� ��� �
��
� ������ ������	��� 4����
�� 2 ���
�
 ��
 �	�������
�	��������������
��������6�(
���4�  ��
���������
����
����
������� �	���������
�	��	�����������2���� ����� �	��
���
��
����  ���������������� �
��=��� ��	������ �
�� ���4
�� 2� �� �
�� ����
�
�
����	
� ������� ��� �
��
�� � ���	���
� ��5�	��� ��	�� ��� ���
����� ���	
�0����������
�����������	��������������� �
���������
���	��6�

����& �� ����������������������) �� ���� ��� ��� ����5
�2��� �3��	�� ��	�� ��� �
���������� ��� ��2� ����� ��� �
��
� �
��



�

�������$��	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

��/�������  
	��
� ��� ������	��� �������� ������
���� ���  =�� 
� �� � �	��
� ���
��	��
� ��	
� �� �������
���	��6� &�� 7��� ������� ������ 	�����
�
�	��5������� 
� ��
��� ��� 2��� � ���2���� ��� ���� ���� �������� ����
�
��
� ��	�� ��� "�5��	�
� 8���
���� ��� ���
���� �� ��	�� ������
��� 	�����
�
 
� 2��� ��� ���4
� ��� ����	��
� �
� �������� ����� ����� �� ����

���5���
����� �
� 2��� �
��=�� 
��5����� 2��� ��� ������� 
���	�� �����
�������� ��� ���

� ��	�� ����
�� ����� ��� ���	�� ��� �
�� ��	��
�� ����
�
��
�� 0� 	���������� ����	��� ��	�� ��� ���� ��� ������ �� ���� �����
�
��� ��� ���	���������� ����������
� ��� ���� �
�����
���� ��� �����
� ���
���� 
 ��	
�

����& ������%��+ � �� ��*& � -
�����
�������������	��������������������� ��
���� �������������	��
������
���5���
���������� 
 ��	
����
����	��������� ������
�������
����������� ��	������� 0� 
	�
��� ��� ��� � �����6� ��	�� 	 ��
� ���
�������	������� �
��7� 
����
���� ����
�����
�� 0� ��
�
 ���� ����
��� �������� ��� ��� ���
�� ���  �����
� ��� �
�� ���
���� �  �	��
���
����	7��
��� ��� ���
�� ��� ��� ���	���������� ���� �
��
� � ��� ���  
 ��	
�
��������
�����������	
�����
���6���	������5
���	7�� �5��
��������	�������
��
�� ����0������������������� ��
�� ������	������6� @��������������
�
�����
����� �����
�� ���	
�� �3���	�	������ �����	�� 
�� 0� 
	�
��
���	
���� ���	��������� ���� � ��
�� ��� ���
���6�(
�� �4 � ��
�� �����0�� ���
�
�������������2������� ��
����0
�����
�����
� ���� ��	�������
��
��
�����	�� ������
� ��� ��5��� �
�� ��	������� 0� ���������� ��� ��� ������ 0�
�
�����
�������	����6��

����& ����+%0�� � ��	�� ����5
� ��� �������� �� 	
�
�� �2����
�� ����	
�� ��0 
� �
�	�
�� ���
������	��� ������ ���� �������� 	��	
� ��� 1 ��
��� �&�16� �
 
� ��� �
��
���	��	
��� ��
��������
���������G�	��������	�6���� ���	�����
��������
��
��� ���� ���	�������
���� ��� ������ ���� ����	��
� �
�� �� �����
���� ��� ����
	����� ��� ��	��G�� ����  �����
�� �������� �� ���� �
�=	�� ��� ���������� �
��
�
�� 5
�����
��� ��� �� �
�� 	����� �
 
� ���  
��	���
�� � �� �������� ���
�� �����
� 0� 
	�
�6� (
�� �4� ��
�� �����
� ��� �
�=	����  
��	����� �
��
���	�� ���� E���
� -��	���� ��� �3��������� ���� 	����� ��� ��	��G�� ����
 �����
� 0� �
�� ����� ���	
�� ��� �
�� 	=	��
�� �
��=��� � ��� ����	��
��
��5�	��� ��	��� �
�� �
� ������ �
�� "���� ���	
�� ���� �
 ��
� �
��=���
	������
�������������� ������6�

����& � ��� ��#$��*����� ��� 0 ���*�
���+��+*�*��*�����) �� �

&�	��������������������5���5���
��������	��������� ���
��
�� ����
�������	�������������2�������
��
��
�����������
��� ����������������
����������� ����� ������������ �� �
�� �������
���	��� �� �� ��������
�� ��� ���
 
����� �����
���� ���� �
��
� 2��� ��� ��� ������ ��	��
�� ������6� ���
�
������������ ��� �
��
� �
��=�� ��������� �� ��
������ � ����� ��2���������
���  
����� ����
����� �
�2��� �
��=�� ������� ��� ������� 
���	�� �� ���������
��� �G������� �� �������� �����
� ��� �������� �
�
���� �
 �� ���� ����������
�����������	��5������� ��	��2����
����	���
�������� ���6 �

����& ������$�+ ��*� � <���3��	�����������	�������������	
�����
�5����	�
� ������	�5����������
�
��
��0��2���������	
��
� ��� �� �	�� �� ��������0�5�� ����
�� ������
�� ����
�
��
���
�����
�����	����������2������������
������ 
�����
�����
����
������ ��	�� ����	����� �
�� ��� ��	����� 5��	
���� ��=� � 
 
� �
�� ����
���������������������0���	��5���������	��
�5������� �
��G�	�� �� ��
��	����6� &�� 7��� �3��	�� ��� �
���������� ��� 2��� ��� �� �	
��
� ����
��������
� ���
����	��� ��	��� ��� �
� �� ��5��5��	��� �
  �	�� ������� 
�
������	�� ��
��� ��� 
����	��
��� �
� 2��� ������ �
�5��� ��
	� �
��� ��	�� ��� ����	��
� 0� �
�� ���
���� ���� �
��
�  ���	���� ��	��
�� ���	������	�	�������������
����
���
���� ����	�� 	��
��0�4����������



�

�������$��	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

�
���������	���� ��	
� �
��=�� ��5�������� ���� �G������ ����� ��� �
��
� 0�
�����������
���	��6 �

����& � � �� /*��*�� ���� ��� ��� / �$0���
���� �+ ������) �� � �

����
��
�	�������	� ���
�������������
���
�	
��0�5� �	
�����2��������
��������� ����� �� ����� �
�� ���� ��������� �� ����	���� ���� �
�

��	��	��� ������� ������	����� �������
���� ��� �
��  
� 	
�� ��� ����
��
�
�	
��2��� � ���2���� ���� ��� �������� ��� ��� ���	���� ����� ���������
�����
��
6 �

����& �� ���� ��� ��.$����*����4�
*�0����+�*+�/ ������ �+�*�����*�� ����*��
*�0����+�*� �*�4����) �� ��

�

�3��	�� ��� ����5
� ��� 2��� ��
���
�� )���������� 
� &� �� ��	��	��
��
��	������
���	��
������
�	�������1 ��
����&�1��6&6� �
 ��
 �	������
�
�	�������� ��� ���� 
������
����� �
� ����� �
��=�� ���� 	��� ���5��	����0�
�� ����	������� ���� �
��
6�<
� ��	���
�� 	� ��G�� �
��= �� ��
�
���� ���
��
���
�������	�	�������������
��������� ����	���
� �������
��
6�<
��
����	
�� ������	
�� �
��=��� 	���������� ��� ���� ������� ��� ��� ���
���������������
��
������5���������������
����
���� �����	�������=�����
���� ���������� ��� ��� ���
�� ��� ��� ���	���������� 0� �
� � ����� ��� ���
���	��������������������
���	�6 �

����& �� ��� �)���+ ������+��%���

�

��� �������� ��� ����5
� ��� 2��� �������
���� �
�� ��	���� ��� ��� � ����
����
�=������ 
�4��=������ ������
������ �
�� ��� �
������� ��  ����	���
��� 
� ���
5���
� ��� ��	��G�� ��
�� ��
�� �
���� �
�� ��	������� ��� �
��
�������
���	��� ���� �
��
�� �����
� G�	
�� �����
��� ��5 
�����
�����
�������
����
��
�	��	���
�����
��G�	�6��<�� �� ���� 	����������������
������	��� �����
� ��� ������� �� ���
� 	��������
���� �
� � 
	�
�� �
��
��
��������������� ����	���
���
����� �� ���
������6�� ����=���� ��	��
��� �
��=�� ������	��� ��� ��� �
������� �� ����	���
��� � 
� ��	������� 0�
�� ���� �
�=	����� ������� 0� 	���������	��� ����� ���  �� �4
� ��� �
��
�
��������
�����	
�������	��G�6�

<�� ���������� ��� ������ ���� ����	���� ��� ����	��� ��	� � ��� �
�������
���� ���� ���� �
�=	����� ��	���������� ����� ���  ���4
� ��� ��	
��
�
�����	
�� 0� ��� ���� �
�	��	������ �� 
	��� ��	�������� ��� ����	��� �
��
����� ���	
��0L
�������
�����������	��������������� �
���������
���	��6�

����& �� ��/*��*�����������/*� ������*��
�*�+����*�� �����

�

�����5���
������������
���	��������������������� 
 ��	
����2������
��	G� ����
� ���� ��� �������� ��� ��� ����� ���	
� ���� �
 ��
� �����
� ��
���� �
�����
���� ��
����� ����  �����
�� � �
� 2��� ������ 	����� �
 
�
�
������������������ �����������������
������������ 	�������
��������
 �� 
6�

����& ���� �� �����*�+�/ ����0 -���*�� ��
����& �� ��� +*�*� ��� ��+��%�<� +�� � ���
�*0-� �����)�*������

�������
���� ��� ��� 	��
� ��� �� ��
� ������� ����	��� �
� ���
� �
��
����� ���	
�� ��	���
�� ��� 	����� ��� ��	��G�� ���
� 	� � �G�� ���
��	���	���� ��� �
�	
�� ��� �
�� ��2�����
�� ���� �
��
�� � 
� 2��� �
��=��
	������ �� 	���������� ��� ��
��� ��� ��� ���� ���4
�� ��� � �4���0� �
�� �����
��� ��� ���4
� �������
� �
�� �
����	
� ��� ��2������2��� � ������ �������� ���
�
��
6� (
�� ��	� 
� ��� ���������� �
��=�� 	������ �� ��� ������ 	��	
� ���
���
�� ��� �
�� ��	��
�� ���� �
��
� �
 
� ��� ���
�� ��� �
� � �
�	��	
�� ���
��2��������
�2�������	��� ��	��	� ��G���
��=��	���� �����������������
���	��������������
��
�������������6�

����& ����������+� ��� ��� �������� ��� ����5
�������
���
� �
�� ������	�
�� 	�� ��� �
 
�� ���������
�
��7������ ������������ �������� ��0
��� 	���� 
	
��� � ����������
	���� ���� �������
��� �
� 
����� ������� ����5���� ���� ���� 
��
�������	��� �
�� ���=���
��� ��=��� ��� ���
����0� 
�4�	
 �� ����������
��
��������	
����3��
��
�������	
��	���
���	������	��� 
	�
�6�

<�����������������������������	�����
������G������� �������
�	
	�������
�� ������0��
���
���5����	�������������=����������� ���������5�������



�

�������$��	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

���4
�������5���
����
�2������	�������=������������  ��������
��G������
��� �
�� ����� ���	
�� 0� ���� ���
�� ��� ��� ���	��������� � ����� �
��
�������
���	��6�

����& �����*�� 0��*������0$�-����#$��
� �&����*����&��� ��� ����� �$�*������

�

��� �
��
� �� 
�������
� ��	7� �3����	
� �� ��� ���
������ ��� ��� �
��
�� ������6�8
�
��	��	��� ��� ����	���� ���� ��� ���	
� �
�	���	���� 
�
��	��
���	������
��
�����	���������������	���
����� �� ��������
��=��
����	��� �
�� ��5���
�� ���� �
��
�0� ��� �����
� ��� ���� � ��	�������
����� ���
�5����2�������
�����
�����2�������
��
��
 ���������  ������2����
�
��	7���������
6�

�

����& ����� ����+�*������ ����0$�-����

��	�� ����5
� ��� ������	�� ���  ��	����� 	
��� ��� ���	��� � ��� ��	��
��
�
����	����� ��� ��� �
�
� �� ������ 
� ��
�� �
�
�� �� ��� ����� ��� 	���
 ������ 2��� ��	�� ��� 
���������� ��� ��� ����	
� 2��� ��5� � ����� ���
�
� �� ��7�	���� ��� ���
�� ��� ��	�� ��	��
�� ��� 	
	����� �� ��� ��� ���	���� ���
���� ����	���� �
�� ���� �
�������	�� ������
��
������� 0 � 2��� ��	
�
����	����5�	��� ��	��������
������
��	=	��
�������� �	��������������
��
�������
���	��6�

�

����& ����� ����+�*������ ����#$���� �

�

��	������5
����������	�������
��3��	��������	���
�� ��	�������������
�
�
�
��
�
���������	���
����
�2���� ����������� �� 	
���� �������5
�
��� 2��� ��� ����� ���	
� �=2���
� ���� �
��
� ��� ���� ���� 	��
� �
��
���� ��� ���	
�� ��� ��� ��5
� ��� ��2�������� 
� �
�� 	��� �� 2��� ������� ��
���
� ��
���
�� ��� ��������
�0� ��� �
��
�4�������6�@�� 
�2��� ��� ��	��
�
��
������
�=	��������������������� �	��������	��� ���	�����#��K����
��� �
�
� �������	���
�� ��	�� ��	�� �
����	������� ����� � 
����
����2���
��� �
��
� �
� ������� ���4
�� �
�� �
����	
� ��� ��5
� ��� � �2�������� ��� ���
	��	
� ��� �������	���
� ������������
4������ �� ������ ���� �����
� ����
6�
&����
��� ��	��������������������������	����������� ���	���
�������
�������� ��� ��� ���������� ��� �������� ����	�� ��� ��5
� � �����	��
� ����
��2�����6�

����& � � �� 0 � ���*�� ��� � ��
*�����*+*�� ���

<�� ���	��������� ���� �
��
� �
��=�� ������ ����	���� �
� � ��� �	���
� 
�
��	���������� ������	���� ��� �
�� ��5
�� ��� ��2������ �� � �
�� ��2�����
��� �
�
����� ��� 	�������=�� ��� ���� ���������� ��� �
�� ��5���
� � ���� �
��
�0� ���
�
����������� ����	��=�� ��5�	��� ��	�� �
�� ����� ���	 
��0� ��� �����
�
���������	�������������������	���6�
�

����& � � �� �*� �������� �*���*�� ��� �*�
� ����*�� *�0����+�*� �*� �*�*� �*�
� 0��*����*�+�/ ��

1 ��
��� �&�1� �6&6� 	
 ��7� ���� ������
���� ��� �������� �� ��� �
��
�������	��� �� �������� ��5��� ���� �
�=	����� ����-
 �	 G����1���������0�
��� ����
�=�� ��� �3���	
�� ��� ������� ��=����� �
�� �
� 2� �� �������
������
�����
��=�������	����
������� ���	
�������
� �
6�

������	�� ��� �
� ��	���
��� ���	���
�� ������
�� ��� ���� ������ ��� ����������
�
��=�� ����	��� ��� ���
�� ��� ��� ���	���������� ���� �
� �
� ��=� �
 
� ���
����� ���	
����������������
���	�6���

�

����& � � �� �%����*� ��� /*� �� ��� ���
��0$�-����

��� �
��
� ������ ������ ����	��
� �
�� ��� �G��������� ��� 
�� ��� ��5��
�
�
��5��
�� ��� �
�� �� ������� 2��� �
 �
���� ��� ���	����� � ����
� �� ���
�
 �
�	� ���	
� ���������
� ��� 	
�
�  �����
� �� 
����� ��
� ���
-
�	��"���6��

<
� ��	���
�� �
��=�� ��
�
���� ���� ��� �������� ��� ��� � ��
�� ��� ���
���	���������� ���� �
��
��0��2������������ ���� ��=��� ������ ���
�� ��� ���
������� ��������������G�������
�	�����>0��2����
�
� ����
�����	�����
���� �G������ ��� %����	��
'� �����
� ��� ������ ��� ����� � � �����?�� ���
���
�� ��� ��� ���	���������� ���  �����
� ���������
� �
� �=�� �����4���



�

�������$ �	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

������ ������������� ��� ��
� 
� ����
�� ��� �
�� ��	��
�� � � 
�������
�� ����
�
��
6�

�

����& �� �����0��$����� ��*0-� ������*�
/*� �*���������*���� ����*��������) �� � �

�

<��� ���
����
���� ��� ���� ��
��������� ���� �
��
� �
��� �
�� ��� ���	���
�����
������
����
����
�������
�����	���
��	G����
� ������������	���0�
�� ������ �������	��� ��
�� ��� 
	�
��� �
�� �
� ������ ��� � ���������� 2���
�������������
����
����2����
�	��	������
�������&� ����	���
��������
�������������������
�������������������������
	�
�� �
��5�����0
�6��

J�0��������5
��������	�����������
����������������� �����	��	
���� �� ��
��� �	���
�� ����� ��� �
 ���� ���������� �� �������� �
�� ����
� 
	��
�� ���
G�	�� �
� �
������� �
�� ��� ���
�� ����� ��� �������
���	� � �
��=�� ����
����	��
� ��� ���
�� �
 ����� ��� ���� ���	�������
����� � 
� ����� �
��=��
	���������� ��� ���  ��
�� ����� ���	
� 
� �G������� �� ��� �
��� ���
��5
����������� �����
����������
6�

����& �� ��� ����+�*�����&� &�6)��*�� ��	�� ����5
� ��� ������	�� ���  ��	����� ���� ��	�� ��
�
� ����� ��� ���
���	���� ��� ��	��
�� �� 
�������
�� �
����	���
�� ��� �� �� �
��� 7����
5�
5�7���������	��� ������2�����	�����
������������ ���� ����	
�2���
��5�������������
������
����������� ��������������� �7������������	��
 �0� ��5������	���� ��� ��� ���	���� ��� ���� ����	���� ��
 �
����
� ����
�������������������
�����������	���������������
��
 6�

����& � � �� �*� *�#$�������� ��� *�+�/ ��
0$4� ������*��,*� ��  � � ��+�$�� �� ���
�$&*����� �*�+ ���

<����2��������� ��� ��	��
�� �0����������
��
�� ������ ����� ��	��� ���
����5
� ��� �
� ���
�	���� ��2�����
�� ���
����
��� ��=� � 
 
� ���
������
��
����� ��� ���
�� ���� ����� �� ������ ��� ���
� � �� �����
4
6�
15��� ��	���
����������� ��������
��	����
�������5� �����
���	
���
�
��� ���=���� �����
� ������� 	������ �� ������
��
��� ��� � ��
�� ��� ����
��
���������� �
�� ����	
� ��� ��2�����
� ������ �3���� � �	��� ����
��������������������	��6�<
���	���
���
��=��������� ������2���������
��
����
����	��
�������
��
���� ���0����
�2����������
 ��
��=����
�
����
������� �������������������
����������	������������ ���
��
6�

����& � � �� *+�*� � ��� �*� ������������ ���
� ��-��������������&��+� ��3-��� ��

(������ �3��	��� �	���
�� ��� ��� ������������ ��� �
�� ��� ���� �� ������� ���
���"�5��	�
�(�����
���
�2���	�����=������� �������� ����4
��������
����
��5���
���
����2�����������
��
6�

�3��	������
�������������2������������	����
�	��5�� �����
���
��� ���
���������������������"�5��	�
�(�����
����-
�	��"��� �>
����������	�����
�����3	���
���
���5�������������
������2����������� ���������
��������
���� 	����	
��
� ����
���?�� �3��	�� ��� ����5
�2��� ��� � �
���
� ��� 	������
�
������ ���� �	�����
� �
�� ���	
���� �4��
�� �� ��� �� ���� 	������� ����
�
��
6�@����
� ��2��� ���� 	��������
���� ��� �
 ���� ��� 	�� ��� �������
�� ������� ���  �	������
��� �
�	��� ��� ��5
����� �����
 � ���	��
� �
�� ���
��
�����������2�������� �
������
�2��������	������� 5������	��� ��	��
��� 	������
� ��5��	���� ��� ��� 	�	��������� ���� ����� ��  ������ �
��=��
��
�
���� �G������� ��� �
��
�0� ��� �
����������� �� ���� �������
���	����
�����
� ��2���G�	
�� ��� 	�������7�� ��� �	���
�� �� ��� �� 
� ��� ��� �
 ����
���� �� ������� ��
���	
� ��� �����	��� 2��� ��� ���	����= ��� ��� �
��
4�
5��
���
 ��	��	��6�

�

����& ����$��*0-���+��*�/��� �������
0���*� �-$��6+����*�*��0�+����$�/ ��
+2+$� ������*�+����*������

�

,��� ����	��������
�������	
�����������	������ 
��� ������
�������	
�
�� ��� �����	���� ��� �
��
�� ��� ���������� �
��=�� � ���	 ���
��5�	��� ��	�� ��� ��� ����������0� ����	������� �
��2�� � �
�� 	=	��
�� ���
���	���������� �
�� �
�
���
�� ��	��� �
�� �������
���	� �� ��� ���  �����
�
����7	���� 0� ��	������ �� ������
� � ������ ���  �	������ 
������ ��� �������
��2������
����� ��� ��0
� ���
� ��� ��
���
� ��� ��������� ������� ����
�
�	��
��
�����������
������������ �	������
������
 �
����
�
�5��
��
0� ��� ����� ���	
� ��� �
�� ��5���
�� ��	
�� ��� 
�������� � 0� �
��



�

�������$!�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

����� ���	
�� ��	
�� ���	������
�� �� �
�� �������
���	� �� ��������7�����
�������������2���	��5��������5����������4
����	
��� ������	��
�����
��
��	��
�� 2��� 0�� �
� ��� ���	�� ���� �
�	��
��
� ��� ����� ��
����
�� 
���������6�

�

����& � ��� *�0����+�*����� ��� � ��
��0$�-�����

,���5��	���� �����
������ ��� �� ����	������� ��� ���� �� 
���������2���
�
��
� ��� ��� ���	���� �� 
��������� ���� �
��
�� �
��=� � ��
���	���
�
� ��� ��� ���7�	��� ��5��� 0� ��
�
���=�� ��
���
�� 4��� ������� ��� ���
�
�	���� ��� 	�� �
�2���� �����=�������
�	�������� �� � 
�� �
�	��	
�� ���
������� ���	
�� 
� ������ �������� ��� ��� ��
���
� ������ ��
� ���
������������� ���� ��	��
�� 
����
����
� ��� ����	
� ��5� 	��
� �����	
�
�
����������4
������
��
�2����������
���
�
�������� �� ��������������
����� ���	
������
��
���0��
�����������
���������
� ��	��6�

����& �� ���$-/*�$*���������*�#$��������
� ����0$�-�����

(����� �3��	��� ��� ����5
� 2��� ���� �
�����
���� ��
�� � ���� 0�
�
 ���������
���5�������
���� ����	���
���������
�� 
�������������
��
������� �� ������� �� ��� ���
�� �
�� ����4
� ���� �������
 �� �
� 2��� ���
	�������=����������	���
�
����������	�������������� 
��
6�

�

����& � � �� �*� �0� ��-����*�� ��� � � �*��
����889�����0 �+ �*$+ ��,*� ��

��	�� ����5
� ��� �������� �� ��� ����	�������� ��� 2��� ��� �
�������
�� ����	���
��� �
� �������� �� �
�
���� ��� 	
	������� �� ��  
�	
�
��	
��
��
� ��� ��� � ������ ���� �
��
� ��� ��� ���

� ��	� ������
� ��� ���
"�5�� ��	
����������
�����
���������&� ����	���
��� �0��
��
�����
1���������� ��� � �
�	��	��  ����
���� 2��� ��� &�� ����� ���
1������
���	������
��
5����	�����

�����
�
�������� 
��������=
�
����
#���+
���
�	��
�������	�������##������	�� ��������� �#$6��

��� �
� ��� ������ ��� �
�
������� ��� ���� ���	�������
��� � ���  �����
�
��� ���
�� �
��=�� �
� �
�	����� �
�� �
�� ������
�� ����� ���
�� �����
�������� ����	�� �� ���� � 
�	�
���
���� ��� ���� 
���5��� 
���� �3��	��	����
�4���	��� ��� ����� ��� ���������� ������	
� �
�� ��� �
��
 �� 
� ������
�������	��� �
���� �
�� ����� ���	
�� ��	��
�� ���� �
��
 �� ����	���
�
�����	� ��	�� ��� �������
���	�� �
���� ���� �3���	�	��� �� ��� ���������6��
��� ��� ������
��� ��� ���

� �
�����
�����	�� �
� ��� ��� � 
�
���
� ���  
�	
�
	
	�����������
�����������
��
����������&�� ������� �1������
���	���
��� �
���� ��� �
 �	�� �� �
	������ ��� �
�	�������� ���� �
 ��
� �
�� ���
������	���� ���������� ����  
�	
� ��	
��
��
� 
� ��� ��	
 ��
������ ��� ���
����
����

�������
�
������� 
�	
��������	��������� �	��0���
������
�
�� ���  
����������� ���� (�
����	
� ��5��� �
� �������	 
� ��� ���
8
� �	������5��	�6�

����& ��� ��$-��*��������� ����0$�-����
)$��*�����+����+ �� ��*�� �*���

�

���� ���	�� ��� 2��� ��	�� �
��
� ������ �����	��� ��� ����� �� �� �������
������
�� ������ ���� 	����	
��
� ����
����� ����� �
���� ������� ��� ����5
�
� ��=��	
� ��� ����� ��
� ��� �
�� ��=���� ���2���G�	
�� �� ����� ��������6�
@����
� �� 2��� �� ���
��� �
� ��� �
������ ��	�� ����� �
�� ��=���� ��� 2���
����	��� ��	�� ��� �
��7�� �����
��� ���� �������
���� �� � �������
�� �������� �
�� ����5
�� � ��=��	
�� ��� ����� ��
� ��� �� 	
�� ��=���� ���
�������7���
 
�������3
�������
����	
6���	�����
� � ��������7����	��
��� �
�� �
�� ��	
�� 2��� ��� ������	��7�� �� ��� ��5����� � 
�� ���
�
� ���
�������������
 ��������
����������� ������6 �

�

����& ��*� ��*� ��*��*�� �2+��*�
0*�� �� ��0��*������*2�����#$�����
*�#$������-��������0$�-�����

��	������5
������������������3�
�������2���������	� ����������	�������
��	��
�� ���� �
��
� ��� ���� ��
�
 =�� 2��� ������	�� ���� 2�������
��
 ���
��
�� ��
��� �� 
��2���������� �������� ��� �4��	 ��� ��� 	�����
��� ��	��G��� ����������� ������������� �	�6�� �
�� 2��� � � ��� ��
� �������
	����� � ���	
�� �
���� ��� ���
�� ��� �
�� ������� �� ���� ��� ���� �
��
6�
(
�� �4� ��
�� ���� ����	�� �
�	�������� ��� ��� ��2����
� ����  �����
�
�
��=�� ����	��� ��� ���������� ��� ��5
� ��� �
�� ��2����� 
�� ���� �
��
�� �
�



�

�������$"�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

2����������=���
�����
������������� 
�
������
����� ��
����
���������
��� �
�� �
������ ��
������� ���� �
��
6� <
� ��	���
�� ��
 �
���=�� ����
��� �������� ��� ��� ���
�� ��� ��� ���	���������� ���� �
� �
�� �
� ����� ���
	�������=��������� ��
�����	����������������������� �
���	�6�

�

����& ��*� ��*� ��*��*���+$*�������&*������
�*2�����#$�����*�#$������-������
��0$�-�����

�

(������3��	����������5
��������
���������	��������� 5���������=�����2���
����
 ������
����	��
���� 
�������
�6�<����	������� ��5����������������
0� ����	��� ��� ������������ ��� �
�� ������� ��2�����
�� � 
�� ��� �
��
�� ��=�
 �� 
� ������� ������	����� ����	
�� �
� ������	
�� �
�� � ��
�� ����	������� ���� �
��
� �
 
�  
��������
���� ��� �
� � ��	�
����
	����	���
��� � �� ��
�� ��� �
�� ��5= ����� ��� ��������
 �� �� 
	�
��� 2����
������� ����	��� �
�� �
��
�� ��� ��2������2��� ��� ����� � � �
�� ��2�����
�6�
<
� ��	���
�� �
��=�� ��
�
���� ��� ��	���
�
� ��� ��� ���
 �� ��� ���
���	���������� ���� �
��
� 0� �
�� ����� 	���������� ��� �� �  ��
��
����� ���	
����������������
���	�6�

�

����& �� ����+��� � �����*��*��)��*�����
�����*2�����#$�������/���+���

(����� ������	����� ��� ����	
� 2��� ��� ������������� ��� ����5
� ���� ��=��
�
���� ��� ������� �
�� ������� �� ������� 2��� ��2������ � �� �
��
�
������	�������	���
�
�������0
����
���������
�����
 �� �� 
���
��=��
	����������� ��������
�2�������	��=���
����
������� 	��������������
��
�
���
�2���	� ��G���
��=��	���������� ��� ���� �G������� �� ���
� ���2���
�����2������������	���������
����	��
�6�

�

����& �� � �� �*�� � ����� ���� ����
0���*� ���0 -���*�� ��

��� ���
�� ��� �
�� �� �������� ���2��� ��� ���
���� ���  
 ��	
� ��� ���
��2���������0����  ��
�� ���� ��
� ��� �+
���������� ���� ����� ��	�� ���
�����
�����
�������� �����
��� 
�������
���
���
�2� ����������
��������
���	�������
���� ���� �
��
� ������ ����	����� ��5�	��� ��	�� ��� ������
�
�����
���� ��
�� ����� ��������� 
� �� ��
�� ��� ��� �
	 ������� ���
������
��
��������
�������

����
������������������  �����6�

�

����& �� ��/*��*�� �������� ���0�$��+ ���

�

�������
���� ��� �
�� � ����	
�� �
���� �
�� ������� �� �� ����� 0� 
	�
��
�� �������� ���4������� �� �
�� ��
���	���
�� ��� ������� ��=���6� <���
�
�����
������5�����0� ���
��
�� �������������=���� ���������������
	��� �
� �� 2��� ���� ��0���  
�������� ��� ��	���	���� 	�� ��	����6� ��	��
�� ��
� � �
��=�� 	����� ��� � ���	
� ��5�	��
� ��� ��� ���	 ��������� ����
�
��
�0� ���� �������
���	���� �0��2��� ��� ����������� � �� �����	�� ��� � �
��
���4
�������2�������6�

�


 ��)��*�� ��������*����4����

(������������ 
��������
����������<�0������������&� ����� ���	
��
,����
��0���������
��>8
6�/C�/�����#/�����5
�	
���� #..C?6�@�����
��0���� �	���
���4� ��
������
�	��	�����������2���� ����������������0�
������
��2��������4�������
�
�����
��7������� ��	�� ���������+
����
������
� �
�� ��� ���������� ������ ���G�	�� ��� �5���� 
�  ��
�� ��� #CKO� ���
������� ��� ����� ��	
� ��� ��� ��2������ �
� �
��7� ������ �� ������ 	���� ���
���������6� � ��� ���  �0
�� ��� #CK� ���E���
� J��
	�����
 � ��� ��� ���������
��	�������7������ ��	
������
���6������
��������� � ��	
�������
	�
��
���	��
���4��
������������������������	����
��7���
 ��������
�� 
�	
��
����
������� ��	
�6�

�

����& �� ��$+���,*��������/�52�$� �����
�� ����+ �������*���*�*��*���/����������
-��������0$�-����$-��*� ��������
�7+��� ���

�

<�� ������
������ ��� ������
�� ����� ��� ���������� ��� �� ����� �� �������
������
�� ��� ��� �3	���
��  �����	�� ���=���
�� ��� ��
�� ��	
� ����������
�
��=�� 5������� ��� ����5
� ��� 2��� G�	
�� ��� ����� ����	 ��
�� �
�� ���
��5�� ��	������ ����  �����
� ��� 2��� 
������� �������
� �������� �
�
�
�
� ��� ��� ��
�
5�� �� ��� �4�������� ��� ���� 
������ �� �
� ��� ����
��������
���� ��� �
�� ���4
��5������
�� �
�� ����
�� ��� ���� �� ������6�
E7���� ��	��������������������	��
������
��������	� ����������
�����
��
�����
����	������������
��
�0������������
���	�� 6�

� ��� ���	�� 2��� ��� �
��
� ������ �
�	��	��� ��2�������� �� �  
������
���	��	��� ��� ������� �
��=�� ������ ��� ����	
� ��� 2��� � ��� �G������ ����



�

�������$#�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

����& �� ��*�#$�������� �+�*+*� �����
0 ���*�����+��+*��*��*���� 0��*�����
����) �� ��

�

���
�����G�	����
��������	
����������> 
����������� 2�������
��
���	7�
�3������
?�� ����	�� ��� ���
�� ���� ���4
� �������
� �
�� �
����	
� ���
��2��������>0��2�������=�������G�������
���
������� ������������?���
�
2����������
���
�
���=��������������������������� � ��	
������
��
6�

�

����& �������#$���,����� ��+2+$� �����
�*�+����*������

<��� ���	�������
���� ���� �
��
� ������ ��5
������� ��� � ��  �����
�
���������
� �
��  ���
� ��� ���� �
���� ��� ���
���� ��	
�� 
����� ����
� ���5
���
��=��������	����� �����	����������2����
� ��������	�������
����  �����
�� ����  �� ��� �
� ��� ������� ������ �=2����� � ���  ������
�� ����	������2��������5
������
��������
�����
�	�� 
�����
����	��
��
�������	�������
��
6�

����& �� ��� �*��*�,*�����0 �+ �02��0 �
����*�+����*�� �����*�*�� &�*���*�� �2+��*�
�����/�������4��$-����� ��� �+ �����
 ���*���������� �� ��

��� ���
� ��� 2��� ��� �
��
� �
� �������� ���  
�	
�  =�� 
� ���
���	�������
���� ����� �
5������� �
�=	������� �������� ��� ��� �
��
� �
��=��
�
� �4���	��� ���� ������� ��� ���������� �
� ����� 5������ =�� ���� �G������
����� ��� �������
���	�6� 8
� 
��	��	��� ��� ������	�� 2�� � ��	�� �
��
� 0��
�
������������ 
�	
� =�� 
6�

�

>�(����0����+�*��������� ������& ��

-
������������ �	�5����
������5
����+����
��������� � �������	���
�������� ����	������������
��
������� 7������
�����
��5����	�������
�����
�
<
�� ����& �����+%0�� <�����& ����+*�*������+��%�<�+�� � ����*0-� �����)�*����<�*�2�� 0 �� ������& ��*� ��*�  ��*��*�
� �2+��*�0*�� �� ��0��*� ���� �*2�� ���#$�� ��� *�#$���� �� -������ ��0$�-���<� ����& �� �*0-�*�� �<� � �� *�#$��� ����
� �+�*+*� �����0 ���*�����+��+*��*��*���� 0��*����� ����) �� �4��������& �� ����+��� � �����*��*��)��*� ��������
�*2�� ��� #$�� ��� ��/���+� O� �
� ��� �
������ 5��	�
���� 0�� 2��� �
� ��� 	����� ���5�� � �
�	�
�� �
���� �
�� ���	
���� 2��� �
�

����
���6� 8
� 
��	��	��� ��� -
 �	G� ��� 1��������� 0� �� � -
 �	G� ��� "���5
�� ����	��� �
�� ��� ��
0
� ��� ������	� ��
 ���
��
�� ��
�� 2��� ��������� ��	�� ���
� ��� �
���� � �� ��	��
� ��� ��� ��
�
 =�� ����
���� �� ��	������
�����
����	�������
���7�����
��=��������
���
�����������5 
��5������
���
������
 �
�	� ���	
��������������	�� ����
 
�
������������������������	����������	��G����G����	�� 
 ���������G����	��������	
��������
����������
���� 	���
	�
�6�

�������	
���� ����& ������#$���, ���� �5��	
������
�	��
��
�����
� ����������� ��	������
 �	G�����������
�����
����
���� �
�����
���� ��� ��5
�������� ��� 	=	��
�� ���
���� � �� ���  �����
� ����7	���� ��	
� �
�� ��� ���� ��� � ��� ��	 ���
��	��	�5���� 2��� ������� �������� ��� � ���	
� ��� ����  � �
�� ��2����
� ����  �����
� �
���� ��� �� ����	������� �� ��
�
��
6�
�
�������5
��������	��������  ���*�� ���������� 0��*� ���� �+ �+���*�+�+ ������ ����	���7� �����	�����
�����������
��� ���� 5����	=��� ��� �� ��� ���	
� 0� ���  ��5��� ��	��� ������� ��5�� ��	���� ��	�� �
�� ��� E
���� 8���
���� ���
���
���6�&����
��� ��	��������	�������5���������
�� ���
���� �������
������������	������
������	
������
 �����
������
2��������
����	��	��
����
������
���6�
�
(������� ����& � ���*+�/ �4�+��� ��&�� ��������	���
����� �����������5
������������������� �����������5�� ���	
���
	���G�� ��� ������
���� ����������� 0� � ������ ��� ���
� ���� ��	
� ������  
��	
����� �
�� ����	
�� ����	������
� � 0� ���
�
 �
�	� ���	
6� ��� ���
� ��� 2��� ���  �	��������� ��5�� � ����	
� ��� ����5
� 
����	��
� ��� ��	����� ����	�� �
�� � ���
����������	
���������5��	�������� �������	
 ������� �������
����������� ����	��0��
�	�
�������5
����

6 �
�
(����  �	�5��� ��� ����& � ��&*� �� ��� ����	�� �
�� ��� ��
0
� ��� ����
���� ��5������ �
�� � ������ ���
� ��� 0� ������	��� ���
�2����
��	� ���2����������	�������4���������
������ ��� ����	�������0�5��	��������
������5
����5������� �
��2������
������������	�������
��
6�
�



�

��������%�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

��� ����& � � �� ��������������� ���� ) �� � ��� ��/������ � ���5��	�
���
� �
�� ���5��	
�� ��� �
�	��
��
��0� ��� �
  �	G� ���
�������
���� �����	�������7������������
�	������5�� ���
�2�������
��
��� �����
������
�=	�������������� �����
�� ���
��� ��	��
��� �� ��
� ��� �������
���	���0�
	�
�� ��2��� � ���	
�� �3�5��
���
�� ��� ��5�� ��	������� �
�� ������ � �������
	����� � ���	
� �
���� ��� �
�	�������� ���� �
��
� 0�  
	� ���� �� ��� �
������� �� ����	���
��� �� ��
������ �
�� ���
��������������������
��
6�
�
<�� ���������� ��� ��5
� 0� �
�������� ���� � ��
��� ���7� � ��������  �����	�� ��� 
����������� 0� ��5�� ���	
� ��� �� �
��������������������5
�0�����������
��	��	��������� 
���������	���0�
	��������������2������������
����� ������������
���������������	��������
���5���
���������� �	�5��� ��� ����& ������%��+ 6�
�
�� �����& ������#$��*��������0 ���*����+��+*�*��*����� ) �� � ��� �� ����	���  �����	�� ���� ��������� �
��	��	�� ����
��	��
�����
��� ��
��������
��	=	��
�����
������2�� ���
�������
� ��2������������5������������	�������� ��	
��
�	��	
�
���2������� � ��������2�������������� 
������3	���4� ���	��5��2�����2�������� ����
�
����� �����������	� � �� ���
� ���	
��
����������	�����������
�����������	������ ����0��������� ���	
������
��
6�
�
(���� ��� ����5
� �3��	��	�� ��� ��� ��	������� ��� �$�+ ��* �� ��������� ��	�� ��� �����
��� �
��������
���� �
���� � 
��
�������	��� ���
���� ���	
����
�� 0� �
 ��
����
���� �
� ��� �
�� ��� �������
�� �������
�� �
 
� ��5
� ��� ��	����� �� 0�
����� ���	
���0�
	�
�6�
�
�3��	�� ���� ��	���	���� ��	����� ��� �
�	
�� �� �
��2��� � �� ����� ������	��� ��� �
��
� ����� ��� �
����	�� 
����	�� ������ ���
�����7������2�����������
�����
��������
�	
����� �� 	��5������	�
�����
�����5
���
� ���������� �	�5���� ������& �
� ��/*��*�� ����������/ �$0������� �+ ������) �� ��
�
-
������������5����	�
��������������
�	������������ ���
��������� ����	���
�����	������	������ �� ��� ��.$����*����
4� *�0����+�*+�/ � �� ��� ����	�� �
�� ��� ��
0
� ��� ��� ����	
�=�� ��	����� 0� �3	����� ����� �������� �
�� ����5
��
�� ����	��	��
����
	�
������	
��2����������� ������ ��������	�����������
����
���
�6��������	���
������ �
0
����
����
���� ��5����� 0� �3���	
�� ��� ��� �� �
� ���� ������
 � ����7	��� �
�� ��� ���� ���  �	�5��� �
�� ����5
�� 4������ ����
������
���
���
�������	������6�
�
<�� 
����	������� ��� ��� �
������� �� ����	���
��� ���� � 
��
� ��� ���	�� ��	�5���� ��� ���� �
�=	����� ��	�������� �� ��� ���
 ������ ��� �
�����
� -
��
��	��
�� ��� ����� ��	�������7 � �
�� ����� ���	
��5��������� ����� ���	���2��� ��� ���� ��	���
 �	������������ ����& �� � �� �)���+ �������+��%���
�
�����������5�� ���	
��������
����������	����������� ������ �����*��*�+����*���� ������
��
6�&����	�������
���	���
���
��� �
������  
��	
����� ��� ����� ���	
� ��� ����� �
��
� 0� 
��������� ��� �������
���	���  �����	�� ��� ����
���� ��� ���
���
�	������������
��
�����������
��������
�������� ��������	�����������
 �
�	� ���	
������������ ���	
 ���
 ���
�
���������
��
�������	������6�
�
����& ���� �� �����*�+�/ ����0 -���*�� �!�
�
��� �����
��7� ���� ����������� ��� �
�� ���	��	
�� 	��
�� ��� ������+� � � �� �
�� 2��� ������ ��	��� �3����	
� �
�� �������
�� ���������
��������������
�������
�������2������� ������
����5��
��������	��
�6�
�
(��	��������7�����������
��
������
��������2������� ���������� �������
��������������������
����������� ����	�5N�����
��� ��� ���
���������0� ���� ��	��
�� ��=� �
 
� ���� �
��� ��������� ��� �
�
������� ��� ������
��2��� �
��=�� 	���� �� ��	���

	�
�����	
������ �	�5������ ����& �����*�� 0��*������0$�-����#$��� �&����*����& ��� ��� ����� �$�*������ (
���
�
	��	
�� ��� ������� ����5������ ����� ������� 2��� ��� �
�� 
� �
� ��� ���� ����	��
� �
�� ��� �
 ���� ��� ��� �� ������ � 
��
��
��� ��������5���
��2���������
�	���������������� ������ ���	
6�
�
����& � ��� � ����+�*����� � �� ��0$�-��� ��� ������ �
�� ���� ��������� ���������������� ��� ��� ��� 	����� 0� �
�� ���
� ��� ��	������ ��� �
�	��	
��2������ ��� �	��� ��� �
�� 
� ��������� ��	��� �
�� �4� ��
�� ��� �����
4
���	������ 
� �
��
���	��������2�����
6��
�



�

��������$�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

��� �= �	�� ��� � ����+�*����� � �� ��#$���� � ��� ������	��� ��	�������
� ��� ��� ��
����	
� 0� ��� ����� �� ��� ������ ���
����������������2��� ��� �
��
� ������ 	
������� ��� ���5 
� ��� �= �	�� ��	�������
�� ��=��
 
� ��� �������� ��� ��� ���	���� ���
��2�����
�6�&�� 7������5��	�����
�	� �������� ��� � �	����������
�	��	
��2��������� �	�������
��
������ ������	��
�����
4
���
�������	
�6�
�
��� �������7� ��������� ��	�� ��� ��	��
� 0� �
 �
�	� ��� 	
� ��� 0 � ���*�� ��� � �� *�����*+*�� � �� �
�� ��� ���� ���
����	�������0������
��������������2�����������
���� �����	���
�
���	�������������������5
���
���
����	
 ������2�����6�
��� ����	�� �
�� ����
���� ��5����� ����� ��	������ �
�� �� �
��2��� �
� � ���	���0� ��
������ �
�� �
�� �
��
�� �	��� ��
�� 
�
��������
��������	��
�6�
�
��� �
 �	G���� �������
���� ����	�� ��	��� ����  �� ��
�� �
�� ����
���� �3���	��� ��� ��� �� �
� ��� ���� �������
�� �� ���
���������=����0��
���������
�=���3	����������
����
 ���������������	
���� 
�������
���
���
��������� �� � �
��7���
��
�
�����������5
���������
���������������
���������� ��������������	
����� �� 0��*����*�+�/ ���
�
<�� �%����*� ��� /*� �� ���$�� -���� ��0$�-�� � ��� ���� �������	������ ��	����� ��� ���  �����
� �� 
��� ����
�� �
�� ������
��
�������5��	������
��	�����������5���������
 �
�	 � ���	
�������
����������������	������ 
����������� ���	
 ���
������
���� 
�
�	����� �� ����	������� ����  �4
���� 
�
� 	��������� ��� ���������� ���
� ��� ��	
��
� ��
�� ��
6� � ��
����	
� ��� ����& � � �� ���0��$�����  � �*0-� �� ��� �*� /*� �*����� � �� �*�� �� ����*���� ���� ) �� <� ��� ����	�� �
��
��
����
������ �
�� ������������0��3���������� ��� ��� � � �
� ��� ��� ���
������� ��� ������� �� ������6�&�� 7��� ��	���
���
����
�����
��������	������������ ����	��������� ������������	������������O�����������������
�����	� ��
��	G����
��
2�����������
�����������
����������������
��������� 2�����	�5��������
��
6�
�
��� �
 �	G� ��� �������
���� ��� �����5��7� ��� �������� �� ������ ��	�� ��� ��2��������� ��� ��	��
�� �� 
�������
� �
�
���������
���� � ����+�*�����&� &�6)��* ������
��
����2��������
 ���
�������

���0��
������ ����������
�
�������
���������
�6�
�
(����
� �� ��� ���
��
������� �
 
� ��2�����
� ���� �
��
� � ��� �����
�� �
� �
�
� ���� �����	��=�	����� ���� ��2���� �
�� ���
�
	� ��G�� ��� ���������
������ ��� ��� ��5
��
�� �
�� ��� �� �� ��� 2��� ���� ����	���� ���/*� �*����� ��� *�+�/ ��
������*��,*� �� �$-��*� ������$&*����� �*�+ � ���
�	��5��������������������	���
���� ��� ���
��	
	� �����������	����
�� ����	����6�
�
�������	�� �
�� ����
���� ��5�������� ��	
� �������2���� ���	��� �
�� ��� �3���������� ���������� ����� �����
��� � �� ��
���
�
��� ������� ����5������ �
���� ���� �����	��=�	�����0��
 �����
���� ��� ���� ��
���������2������ �
��
� ���	����� ��2�������
	
�
��
���������������������
������5
��������5��	�� ��0��������������
�� �� ��� ��������������������� ��-������������
��&��+� ��3-��� ���
�
�� �5��	
������
�	��
��
�����
� ����������� ��	������
 �	G�����������
�����
��������
 �
�	� ���	
����� ��� ��
�
0� ����������  ���
��
�� ����� 2��� ������� � ���	��� ��5 �	��� ��	�� ��� ��& ��*����� ��� �*�+����*�� ���� ��� ���
0���*� �-$��6+�� ����	
��
������������� ��� ��	�����	��	�5����2����� ���� �	������
��
��� ������
����������0����

�
����
�
���������
����	
���
���
�2������ 7�� �	�5��7 ���� ����& �������#$���,����� ��+2+$� ������*�+����*���� ��
�
��� ����	�� �
�� �3���	
�� ��� ��� �� �
� ��� ��� *�0����+�*����� ��� �*�+��*� ���-������ ��0$�-���< � �
�� ������� �����7��
�����2��������5���	
�
���
����	7������������ ����	� ������0�5��	�����������5
�6�
�
<���� ����	������������
��
���������5��7����������� ������
� �������
 �	G�����������
������
���������
� �������2���
��� ��	� �� ����������� ��� �
�
�������� �
	��������� ��� ����� ��� ��2�����
��� ��=� �
 
� ��5
�������� ��� �
�	��	 
���
���
� ���
� ���� �
�����
���� ��� ������� ���	
O� ��	
� � 
�� ��� ���� ��� 2��� ��� �
 �	G� ��� �������
���� 	��5��
����� ���	��� 2��� ��� ��� �	��� ����+��� �����	������ �� � ���
� ��� 2��� �3��	��� ���0��$�� ���� ��� � �� *�#$������ �� �
�
������ 7��2���������
����	�������������
����������� ���
 �
�	� ���	
�5�������
��
������������	���6�
�
<�� �� ����	������� ����	�� �
�� ��� ����
���� ���������
 ��
� 2��� ��� �����5��7� ��� �
 �������
��� ��� �
��
�� ��� ���
�
����� 2��� ��� �
��
� ������ � � �*�� �$� �0������ *$+ ��,*�* � ��� ��� ���

� ��� #�� �+
�� ���
���
� ��� &�� ����� ���
1������
���	�����������
�##������	�� ����������#$6�



�

����������	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

��
(���� �� ����	���� �
� � ����& �� � �� $-��*����� ��� � �� ��0$�-���� )$��*� ���� + ����+ �� � �*�� �*�<� ��� �
 �	G� ���
�������
���������
��7������	�����������
�� ����0��
 �=	��������
����=��������
��2������������	��������� �	����������
�����
����������
���6��������	��	� ��G��������
���= ��
��
��������
�
�	��
���
���������
�=�������	����� ���3���	���
�������� �
���������������
������ 
���������������� ����	����	
��
�����
���6�

��� ����	�� �
�� ����
���� 4��=���
�� ���������
��
�� ��� ��� �� �
� ��� ���� �������
���� ��� ������� ��=����� �
�� � ������
������� ��	�
��� ��	��� ��� ���
� ��� 2��� �3��	�� ��5���� ��	������� ��5��� 2��� ������ ����	��� ��� ������������ �� � �
��
������� �� ������� ��2�����
�� 
� ����2����� 
	�
� ����	
 � ��� 
����� 4��=���
� �
�� ��� 2��� ��� ������	�� ��� �
��
� �����
 �	�5��� �
� � ����& �� *� ��*� �� *� �*� ��+$*����� ��&*�� ���� �*2�� �� � #$�� ��� *�#$������ -������ ��0$�-���� 4� � ��
$+���,*��������/�52�$� ������� ����+ �������*���*�* ��*���/����������-��������0$�-����$-��*� ���������7 +��� ���

(�������� ��	����������
��� � ����� ����4�� 0� �+*0���+ �����*����$�+��*���0 -� ��*��* ��
����������������	�������
0������
�������������2����
��������� ���	�����5�	�� � ��	�6�
�
(���� �	�5����������5
��
�� /*��*�� �������� ���0�$��+ ��4�0 ��)��*�� ����*� +� *����4�� ���������	���
�������
0
�
��� ����
���� 	����	���
�� 0� ������	���  ���
��
�� ��
� �� �
�� ������� ��� ��� �	��7�� ������� �� ���
� ���� ������ ���
5��	���� ��� �
�� ����5
�� 2��� ��� ������� �������� �
�� �� � ���������� ��� ��� ��	���	���� � �
��	���� ��� ������� �� =���� 0�
�� 7���
�����
������5�����
� ���
��
�� �����2������ �	���������4
������
��
6��

�

B� ���� ���2+$� ������*�+����*���������) �� !�

B����*� ��������*�+����*�����

�*�*�+��2�+��*��
<������	�������
��������
���������
���	����������2� �����
��
���	��7��
��������	����� �
�� �
�� ���	������
�� ��� ���	��������� �� ���
 �������
	� ��G�����	�������
���O��������
�	����7��5�������
 ��0��
�����
����

������	��=�	�������G�	���������������������
���	�� 6�

� �0*������������+*����� ;���
�	=	��
�

��+��*�� ���� ��*-��� ��� ���/*�� ��� ��-� �
 )���*�� ���+�*��,*� � ��� �*� +�+$�*���*�� ���
�*���*�+����*�� ����

1 ��
����
�����������
��
�����1����������6&6�

�

�*� ��� 0��*������*��*�+����*�����

�

,�I�C6�������>����
� ����������?6�

�6��$� �����/*� ������*��*�+����*�����

������
��
������
����������	�������������
�	������� ���������������
������
��	��
���	
������
��
����������
������������������� ���
�	�������������
�=����	��������	�������� ��
�������	�������
������� �����������6��

������
�����������	����������2������
�	��5���
����	 ����
���� ���	
�
�
�����
���� ��� ���
�� ��� ����������� �
�	����� 0� ��� �	 ���
�� ����� ���
��� �
��
� ��� ���� ���	�������
���� ��	�� ��� ��2������� �� ���� �
��
� ���
���������� �� ��� ����� ���	
� 
� ��� ��2��������� ��	���� ���� �
��������
�
��������� ���������������
���	��6���

��� �
�� ���
�� ��� 2��� ��
����� ��� ��� �
��
� �����	
� �� � ����
���	�������
���� �
�� ���	�� ��� ��� �
��
� ��� ���������� ������
� �
�� ���
����������� ���� ������
� ��� �����
�� ��5��� �
� �������	 
� �
�� ��� <�0�
"�5����
�������;�����
�������
����0����"�5�� ��	
�� ��������
����



�

����������	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

�
��������� &� ����	���
���� 0� �
��
�� ��� 1���������� � ���
���	�������
���� ��� ��� �
����� ��� ���
�� 2��� ��� 
�	�� 5�� ���� �����
�
��
 ���
� ���  �����
� ���� ��	� 
�  ��� ��������
� �� ���	 ��� ���� �=��
�����
� �� ��� ������ ��� �
��
��	
���� ��� ��� ��� ����O� � ���� �
� ����� ���
�	���
�� �
 
� ����	�� ��� ���
� ������� ��� �� ����	���� � �
�� ���
��
����
����������
�� �������
���
��
������
�������� � ����	���
���
����
��
��������������6�


�+ � � &2*� �*�*� �*� /*� �*����� ��� � ��
*�+�/ �� )��*����� �� ���� ) �� � ���
��/�������


�+ � � &2*������*� ������*��*�+��*!�

<�� ;�	
�
�
5=�� ����� ��� ��	�� �������� ���� ���
�� ��� � �� ���	����
>��	��
�� 	
	����?� ���� �
��
� �
����	�� ��� ���� ���
��� ���� �� �����
� ���
 �����
� ��� ��	
�� ���
��� �
�� �����
�� �����4��7�� �
�	 ���� ��	�� �
��
�4��	��� 2��� 
��5����� ��� 
���	�� 0� ��� �� ����� ��� �
�� ���
���� ����
 �����
6�

��� �
������������ ��� �	���
����� ����  �	
�
�
5=�� ��� � ��
������� ��
�����
���� �����
���������������	������G�������
�5� ��������������
���
�� ��� ��� ���	����������� ��
���	
� ��� ���� ����	��� �
���� 2����
������	����������5
�����
������������������ �����
� ������
���6�

<��  �	
�
�
5=�� 2��� �	���
�� 1 ��
��� �
������� &� ���� 	���
��� ���
�
��
�� ��� 1��������� �6&6�� ����� ���
���� ���� �
��
��� ��� ��� ��� ����
%;������ ����� ��� ���������� ��� 1��	�� ��	
�� ��������� 
�� ��� -
�	��
"���'�� �
����	�� ��� �������� ��� ���	
�� ��� �����
�� ��� ��
�2�����
���� ���
��� ��(1(-&���6&6�<�� �� �������� ���� ����������� ��� ��� �75������� ���
�,���&<6�

��� �������
���	�� 	����7� ������
� �� �
����	��� �� ��� �
 �������
&� ����	���
���� ���� �
���� ��� ���  �	
�
�
5=�� �
 ���	 �� ���
���
�����������������	����6�

���� �����*�� ��� �*� /*� �*����� ��� � ��
*�+�/ ��)��*����� ������) �� � @������

�


�+ � � &2*� �*�*� �*� /*� �*����� ��� � ��
��0$�-��������) �� ������/�������

-
�� �
�� ������� �� ������� ��� �
������� �� ����	���
�� � �����
�����
����
��	��
��������
��������

�?����
������������������3������������ ��	���
����� ��
����
����
���
��
���
� ��� �
��5�
� ��� ��5�����
�� 0� ��2��	��	
�� ��� -
�	��
"����"����
�����
��5�
�������	��
���������=������
� ���������2���
����� ����� 6�

�?� ���
������� �
�� ���	�� ��� ��� ��
����
���� ��� �����
 ��� 2���
��	� �� ��� ���
�� ���� ��	��
� �	���
���
� ���  �	
�
�
5= �� ���
�������	
� ��� ���4
��� ��� ����� �
����	�� ��� 	����� �� �� �
�� ������	��
�
�����4
����	
���������	��
�2�������������5������� �������	��
6�

-
�� ������	
� ��� ���
�� ������ ���� �� ������ ��	�� ���7� ���  ��
��
���
������
���
���5���
�������	������
����
���6��

����
�����
�����2������ 
 ��	
������������ ���	
��� ���������
��	�������
� ���� 
������ ��� �
 ���� ���� �� ������� ��� � ����
� ���
���	�������7��4��	��������������
����
������5��	��� ��� 
 ��	
�
����4���������
����������
 ���6�



�

����������	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

���� �����*�� ��� �*� /*� �*����� ��� � �� *�+�/ ��
� �)��*����� ������) �� �

<
����������� ������������7�����
��������� ��
����� ���
����
�+
��0����	
�
����
����� 
 ��	
���������2��������6�

�


���*� ��  � - ��*�� ��� � �� �$*���� ���
�$������& ��*���*��*�+����*���� � E
����8���
����������
����

B�(���*0-��*����	�/���� ���+*��

��&�*���*�*��*�� �/ �*+ ��*� <�� &�� ����� ��� ������7� �����
� ���� �
��
����� �
�� ��� �
�������
&� ����	���
��� 0� ��� �����&�� ������ ��� �
�
���7�� �
� � ���	
�� 2���
������� � ��� �5����� 0� 
����� ���� �=�� �������
�� ��� ��� ����
� ���
�
��
��	
���6�<��� �
��
��	
����� �����&�� ����� ��� �� �7��  �����	��
�����������������������
��������������������
������ ��
��=�����	�������
��	��� ��� 2��� ��� �������� ���&�� ������ �
� �
�	7��
��� ���	�
� ��� 	���
���

�� ��� ��� �=�� ��� ��� ������������ ��� ��� �
��
��	
� ���� ��� ��� �=�� ���
������������ ��� ��� &�� ������ ���� ������� ��� ������7�� �� ���
� ��� ���
�
 �����
� ��� ��� �
�������&� ����	���
��� 
� ��� ����2� ���� 
	�
� ��5���
���� ��=�6�@����	������ 	�� �
�� �
�� �
�� ��	
�� ������ 
���
�� �
�� �
��
������ ��� ��� &�� ����� ��	��7�� ��� ���� 
�������� ��� ��� �
�������
&� ����	���
���� �� ����
������� ��� �
�� �������
���	�� 6� � (
��7�
������������� ���� 	�7 �	�� ��� �
��
��	
���� �������� �� ���
� ��	���
�
�������� ��� 	
	������� ��� �
�� �������
���	��� ��=� �
� � ���������
����G��
��� �
��	��� 	��� �������	������ ��� ��� ��	�� �
� ����
�����	��� ���
��������	������
������7�������� �����
��	
�
���
��� ������
���	��6��<��
��� ����� �
��7��
��
������ �� �=� �� ���� ���� ���3� �� ������ �
�� ���
��
����	
� ��� �
�
���� �
�� ����	
�� 2��� ��	�� ���� ��� � �����
� ���
�
��
��	
�����  �����	�� ������������ ��� ��� ����
� ��� � �
� ��� �
��
��������
�� ��� ������������ ��� ��� ��=�� 0� ���  ��
�� �
� � 	���� �=���
��	������� ��� ��	��������� ������������
� ��� ����2���� � 
	�
� 	�7 �	�6��
<�� ��� ���� 0� ��5����� �
��
��	
���� ������ ��������
�� ��	7��� ��	�� �
�� 
�
�	���������2��� ��	��7�� ����� ����� �
�� �
�
 ��
�� �
�� ��� ���

� ��� ���� �
��6����(�������	��0���� �����	���
� ��� ���
&�� ��������7������5���
���
�����&�� ��������1����� �
���	��6���	
��
�����
����
�� ��� ��7�� ��� ��	�� ��� ��� &�� ����6� � <��� &�� ������ ���
1������
���	��� ��� ��5��7�� �
�� �
� ��	�������
� ��� ��� (�
����	
�� �
�� ���
<�0�"�5����
�������;�����
�������
������
���������� 
����
����������
�������	��������� �������� ��� ���
���� 0� �����	
��� �� 	�� �
�� ����
����
����
��������-���5
����-
 ����
��������	������ ��&�� ���������
�����
���������&���� ��6�

�*�+��*�������/���� ���+*�������*��*��*�*�
���#$��$0�

��� 2���� � ��� ���� ��� ������ 5��������� ��� ��� ���� �
� �
��	
���� �
�
�
� ��7������	��������	������	�������������	������� 
�����
��������
�
�� �
	
6� � ��� ��5����� �
��
��	
���� �
� ��7� 2���� � ��� �2�����
�� ��
�������	�������
����2����
�������6�

�


*4 �2*���#$����*��*�*��*�*�� -*��������
*�$��� ������*�*�*0-��*�

<
�� ������
�� ��� 	
 ��7�� �
��  7�� ��� ���  �	��� ��� �
�� �
	
��
������	��6�

�

�



�

����������	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

C� ��&�*���*�*��$������� ����4����0- �� ������*�+����* �� ����

C6#����������
����0���� �
��
��������	�������
����

 �+ � 02��0 � ��� �*�
��/��������

���  =�� 
� ��� ����������
2��� ��� ��	������� ��� ���
��� 	=	��
� ���
���	���������� 0� ��� ���
��
�
 ����� ��� �����
���	���������� ���� �
��
�
��� ��� IC6����>����
�  ���
�������?6 �


 �+ � 02��0 � ���
*� �+���*���� �*����

���  
�	
�  =�� 
� ��� ��
�	���
�����
������ �
�����
���� ���
���
������������	���������6 �


 �+ �02��0 ������+�� �� 8
������� � �*�� �02��0 � ��� ����
�  =�� 
� ���
��� ���������������
��
�������
���
������������	���������6 �

�
�*� �� ��� �7�������� ��� � �� �$*���� ���
) �� � �$���� ���0- ��*�� �����+*0��+��
�*���*�+����*�� ����

@��������
��
���
��������	
�������"�5�� ��	
������� ���
����
�
���������&� ����	���
����0��
��
�����������	����� ��
��������
��
�
��
��������
���
��7���������� ������
������
����� ���� ����	���
���
��	�����������2��������������
��
��������������	��� �5�����������
��5����	����
�����
�����
�

�6 <�2�����������	�������������
��
6�
�6 -����
�	��5�����5����� ��
���������G5� ������������ ��������

�
��
�� ����� �2����
�� �������
���	��� 2��� ������� ��
5 ����� ���
������
���������
6�

�6 -
��������������
��
�������
�����
������	
6�
�6 ��� ���
�� ��� ���2����
� ����  �����
�� ����� �
� ����� ��� ��2�����7�

��	
��
�������������������	�����������������������
 ���6�
�

�6 -� ��
� ��� �
�	�
�� 
� ���	�	������ ��� ��� �
�������
&� ����	���
��6�

�6 ��������������
��������� ����	���
��6��
56 -� ��
� ��� ��� ��	����� ��� -��	
���� 	��
� -� �� ���� ��	�� ��� ���

���	
����	��
�E6�
�6 <�������������
��
��������������6��
�6 @���������������������
��
��������������

�
���	
�
���
�����
��������� �
��
������4�	��7�������  �� �����5�������
��5
�0����

���	����������������������������������� ���	�������
�������
�
���
��
�������	
�6�
�


��*���0 ����� � �*���������*��
�*�+����*�� ����

�

<��� � ���
���� ��� �
��7�� �
�
����  �����	�� ���	������ �� �����	�6�
M���� ��	�� ������ ���� �	���
��
� ��� ������ 
������ �� � �
�
������� ���
��� �� 
�	���	
6��

<�� �&�1� ���
� ��7�  �����	�� ��� -
 ������
� ��� J���
� " ������	��� ���
 ��
�����=����7��������	�����
���5����	������ ����� � 
������=���
�2���
�	���
��7� ����� ����� 	���	
�� �
�� �
����
�� ��� ������� ��� ��� 
���	���� ���
������ 0� �
��� ��� ���5�������� ��� ���7 �	�
� ��� ���5��� ����� ��� 	��
� ���
���5�����������	���	
����
�
����0�������

������2�� ������6����������
����
�����	�� 	� ��G�� ��� �����7� �������� ��� �����
�  73� 
� ��� ���5�������
�������6�

��� ��� ���
� ��� 2��� ��� �
�
2��� �
�� ������������ ��� ��� ��� ��� �&���



�

�������� �	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

�
 ������7� �
�� J���
� "������	�� ��� �
 ���� ��� �
�� ��� ����	
����� ���
��	�����
�� 0� ��� ���

� ��� ���� 
���5���
���� ��� �
�� �� 	�� ������
��� ���
 
�	
� �� ���������� �
�� ����� ��
�� ���� �
 �������
���� �
���������0� ���
�����
� �� ��5����
�� �
�� ���
����� �
 
� 73� 
���� �=�� �7���� �����G�����
������ �������
�	��	
6�

���+*����*�

<��� �������� ��� �
 ���� �����7�� ��	��5����� ��� 1 ��
�� � �&�1�� �
�� ���
�����������������	�����������	�������
���6��������� 
���� ��	����7�����
 
��������
���� ���  ��
�� �����	�� ��� �
����
� ��� ����� ����� ��� 
���	���
��� ���  �� 
� �=�6�&�� �� 
�� ����
� �����
� ���7� �3���� �
� ��� ��� ��5���
��������
�����7���������
�������
���������
���	���� 
�����5��	������
���6�

����������7������5���%��� ��
� ��� 	�� �
� ��� ��
� ��� ������
'� �� 	
����
���� �
����	����� ���������� �����	�� ��� ����
�
� ��� ��� ������6� ���
�
����	�4��  73� 
� �� ���5���� �
�� �������
���	�� ����� ���
� ��� ��5���
��	���
�����7�����#K6�-����
�������	���������� ��	� �5�������	�����	��
�
�
�������	
	�������������� ���������	���
����	�4� �����������7���� 
�	
�
	
	��� ����
������ ��� ��� � ������ 0� �����
� ��� �
�
���� ��� ��� �������� �
��
	���	
�����	���
����	�4����������������	���	
��
��� 
�
���6�<���
���	������
�
 ���� �5������ 
� ������
���� ��� �
����	�4��  73� 
� �
 �� ���5���� �
��
�������
���	��������5���7������
� ���� ����	�6�

-����
�� �����	�� ���  
�	
� �� ����	�� ��������
� ��� �
� ���	�4��
 73� 
� �
�� �������
���	�� ��� ��� ���

� ��� ���������� � �� 
���	���� ���
���5������� ��� ��	�� �� ����	�� ��	��� �
�� �������
���	 ��� ��0��
���	�� ���
�
 ���� ��0�� �������
� ��	�� �
����	�4�� �
��7� �����
�� ��� ���5����
�
 
�	
�� �5������ �� ����� ��
�� �����	���
� ���  
�	
� ��� � ���� 
���	�� ���
�
 ���� 0� ���	�� �5
	��� ��� �� ����	��>���5������� ���� 
� �� ���
��	�?�

�� ��	����	��� ��	��� �
�� ���  G	
�
� ��� ��
���	�
� >�� �5�������
����
� �� ����	���?�� 
� ����� ���5����
� ��	�� �� ����	� � ���  ������
��
�
���
������� 
�	
�������
���	�������������	���� ��	���
������������
��� �
��  
�	
�� 	
	����� 
���	��
��  ��
�� �
� 0�� ���5��� 
�  �����	�� ���
��5��� ��� %��� ��
� ��� 	�� �
� ��� ��
� ��� ������
'6� �� � 	��
� ���
���5������������������
����2��������	����� 
�	
��� ����	����������
�
��� �
����	�4��  73� 
� �������
�� ��� �������7� ��� ��� -
  ������
� ���
J���
�"������	���������
�
������6��

��

��� �����
� ��� �
�
������� ��� ���7� �� �
�
����  �����	�� -
 ������
� ���
J���
�"������	����� ��
��#��=���7������	����������
 �
���������������
	���	
6�

�$-*�+*�

<���
�
���������������
��7��������
�������������	�� �����1 ��
����&�1�
�
�
��  ���
� ��� �
��  ������ 
�� ��� ���E
����8���
���� �� � ���
����� �6&6���
������ ��� ��� ���
�� ��� �����	�� �������7�������	����� ��� ���	�������
����0�
��������5���
����
����������7���������������
� ���� �� �
����	��������
��
 ������ 
�������5
��������������E
����8���
�������� ��
������6&6���

<
�� ���7 �	�
�� ����� ��� ���5������� ��� ���� 
���	��� �
 ��7�� ���� �����
�



�

��������!�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�


������
�
������
�����
�	�6��

��� ���
� ��� 2��� ��0��  7�� ��� ���� 
���	�� ��� �����
� ��� �
�	��� ���
���5�����������
�� 
�	
������������
��������5����
�  
�	
���5��������
����� ����� �����	���
� ���  
�	
� ��� ����� 
���	�� 0� ���	 �� �5
	��� ���
�� ����	�� >���5������� ����
� �� ���
��	�?� 
�� ��	���� 	��� ��	���
���5����
� ��	�� �� ����	�� ���  ������ ��
�
���
���� ���  
�	
� ��� ���

���	�� ��� ����� ���	������	�� �
�� ������	
� ���  
�	
� 	 
	��� ��� 
���	����
�
����� G	
�
������
���	�
�>���5�����������
� ����� �	���?6����	��
����
���5������� �����
� ��0��  7�� ��� ���� 
���	�� ��� �����
� ��� �
�	��� ���
�������7�������-
 ������
����J���
�"������	�������� �
�
������6��

<�� �&�1� ��	�������7� ��� �����
�  73� 
� ��� ���5������� �������6� ��� ���
���
����2��������
�������
���
�
����������5�������� ���	�����
� 
�	
�
 ��
����������� ��	��
������
��
����������
�����
�	 ���5����
� ��
��
��� �����
� 73� 
���� ���5������� �������6�&����
��� � �	��� ��� �����
� ���
�
�	�� ������ ����  �0
�� ��� �����
�  73� 
� ��� ���5����� �� ��������
����� ��	��������� ��
�����5����������	�����
� 
�	
 ��5����
� �0
�����
������ ��	�� 
������
6�<�� �&�� ����� ��	�� ������ ����� ���� ������	�� ���
�
�
������� ��� 	
���� ���� 
���	��� 	������ ��� �����
�  � �
�� ��� �����
�
 73� 
�������5��������������6�

��� �����
�  73� 
� ��� ���5������� ��������� ��=� �
 
� �� �  
�	
� 
� ���
���	����� �� �
�
����� ��� �
��7��  
��������  �����	�� -
  ������
� ���
J���
�"������	����� ��
�����
�����7��������	������� �������	�6��

<���&�1��
��7���	������������
�����������2�������� ��	������������7��

���	��� ��� �
 ���� ����������� ��� ��0
� ���
� ������ �
� ������� ���
��	�������7� ��� ��� -
 ������
� ���J���
� "������	�� ��� ��� �
�
������6�
<����2����������������	���7����:H#6�

�$�������������)��0���

��� �
�	��	
� ��� ������������ ��� ��� �� ��� ��� ������	
� ��	��� ���� �&��0� ���
�������	
��� �
�� ��� ����� ��� ��5���
� ��� 
���5�� �� �
 � ���� �
�� ����	��
��
���� ��� 	
	������� 
� ���	�� ��� ���� � ������ ��� ����� 
� 0� ��� ��� ���

�
�
������
���	����������	��6��

��� �������	
�� ����� ��	�� �
��7� ������� �
�� ���
���� � ��	�� 2��� ���
� ������ 
� ���	�� ��� ��� � ������� ��5��� �
�����
���� �� � �
�	��	
� ���
������������� ��	G� ������	�� 0� ��5����� 0� ��� �����
��7 � ��� ���  �����
�
���������
�������
����������	
�6��

�

<
�� �������	
���� ���
� ��7�� ��� ������ ����  �����
� �� �������
�� ��=�
�
 
� ���� �
�����
���� ����������� >������� ��� ��5
���� ����� 	���	
� ��
�
�
���� 0� ���

� ��� ��2��������?��  �����	�� ��� -
 ��� ���
� ��� J���
�
"������	�� �� �=��� �7������ ��	��� ��� ��� ������ ��� ��5
� ������� ��� �����
	���	
6�

&�� 7��� �����7�� �������� ��� ��� 
���	�� ��� �
�� ���
��� � ��� ����5��
����� ��	�� �� ���� �����	��6� ��� ��� ���
� ��� 2��� ��=� �� � ����
�5��� �
��
�������	
���� �����7�� �
����	��� ��� ��	
��
������ �� �� �E
���� 8���
���� ���



�

��������"�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

���
������6&6�����������
�������
������
����������� �������6��

1����������	� ��	������	��
�����
�
�������2�������	 �����������
��
�
�
��7��
�
�������	�������
����	��	
������� �����
�� �����
����
�
�	�����������
 
����
	�
�� �����
�6����������
��� ��
�
����
�������
����3	���
�������
�������&� ����	���
����
����
� �� 7���� ���
�
 �����	������
 ������
��������
��������	�6������
 � �����
������
�����
�������� ��
������=���7������	������������
�
 ��������������0�����
 
�	
��
��
���
�����������0� �����
�����
�
������6�

�

�

C6��@��	��������������������
����������
��

���� �����*�����
���+��-$�����

�

;�������

���5*����� �+���*�*�
��+��0��*����/���� ���+*��
� �������5 �*�����-���� ��
-���)��� ��

<�� ������ ��� �
�	�� ����� ��	�� ����� �
�� �������
���	� �� 2��� 	������ ������
� ���
����� ���	
����7�����
�����
�����	�������	� 
��=��� �	������������� ��6�

���5*�����*& ����� ��
-���)��� ��

��� ���	������7� �� �
�� �������
���	��� ��� �=��C� ����  � �� ��5����	��0�� ��� ���
� ��� �
� ����
�7���������=���7������	���
�6�

��+��0��*���������
-���)��� �*����+��-$���

��� ���	������7� ��� 	
	������� ���� ����� ���	
� ��	
� 5� �����
� �
�� ��� �
��
� 0� ���
��������7������	� 
��=���������� ��6 �� �

<�� �������� 
��5������ �
�� ���� �G������� 
�5��������� � 
� �����
����� ���������� ��� ���
�� ��
����������
����

����������
���� ���������
�� ��7���4�	�������	�����������	���
�
���������
���	�����
�
����	��2��������0�������
�� 
�������	��
�����
����������������
�� �����6�

�

D� � 0��� ����4�� �+ ��� � �

�6#�-
 ����������� ����	�������0��
�	
��2������ ��� ���
��
�

� 0���������
*�0����+�*�����
067�0*�

����
��
����1��������������5��7�������6&6�6��
���
� ���	
�����
 ����������� ����	�����������$K�
 73� 
�����	
	���������	��
���	
��� ����	���
6����� 7����
��������
 ����������� ����	����������
�����
��7� ������ ��	��0� ��� ��� ��������7� ��� ������ �� � �����  ��� �� ��� �
������� �� ����	���
��6� ���
�
����	�4����������	�
������= �	�� 73� 
�����
 ���� ���
��
��7����������������

��������
������
��� ��6�������
�2����������������5���� 
����������� �������������	�
������= �	�� 73� 
�������
�
 ������ ��� �� ����	�������� ���  �� �� ���7� ���
� ��� �  �����	�� ��� �
 ������
� ��� J���
�
"������	�6�

� �+ ��#$��
*�$0�����) �� �

<
��5��	
��2�������������������
��
������0����
�

��������������������������������������������������������
2 El rendimiento neto total corresponde a la totalidad de los rendimientos generados por la cartera del 
Fondo menos los gastos en que el mismo incurrió durante el período de cálculo. 
 



�

��������#�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

�����/������� ·  -��5
���
���
 ������������	
�����
��������	
����	�� � ��	���
������
��
����1��������6�<��
�
 ������ �
������ �
�� ��� ���	
��
� ��� �
�� ��	��
�� ��� � �
��
� ��������7� ���� �
�� ��� ���
���
����2������ ���4�6��

·  -�
	���0�5��	
����� ��	��� ���	
6�
·  1 ����	
��������
��>���	������������ ����������	��
 ������	���0�
	�
�?6�
·  �������
�� ����������6�
·  �������
��������
�6�
·  �������
������� ����	������������
��������6�
·  "� 
������
����0� �4
�����������
�2�������2��6�
·  9�5���
������������ �����6�
·  ��5�������0���5�������6�
·  �������
�� ��
����
������ ������
��� 2��� �����0�� ����	 
�=�� �3	������ ���������
��� ��� ����5
��

�������
�� ��� ��
����
�� ��� �����
��� �������
�� ��� ��2 ��	��	���� �� ��5�����
��� ����	
��
��5����������� 	
�
5�7���
��� 	G����
��0� ���������
�� � 5��	
��0� �
�
����
�� �
�� ����
�=�� ��5����
���������
�� �� �� 
�������
�� �3	���
�� ���� �
��
�� 0� � ���
���� �3	���
�� ���� �
 �	G� ���
�������
���6�

·  -
 ���
�����
��5��	���������2������0��
 ����0L
���� 	������� ������6�
·  ���	
������ �5������������������
 
������ ������
�0 �������
������������6�
·  ��5��
�� >����
�� ��� ����
����������� ������� ��5��
�� � 
�� 	���� 
	
�� �����7��� ��������

������������ �����
� ���	
�� �������
�� ��
2��� ��� ���= ���
��� ��=��� ��� ���
���� 0� 
�4�	
��
����������
��������
��0��3��
����?6�

·  ���	
�� ���������
�� �
�� �������� ���	
�� ��� �
� ���
� ����� ��� ��G��	
�� 0� ����	���	��������
��������
��0��
 ���
�����
����	���
����	
����=��
 
 �5��	
���
���������������� �����
6�

·  ��	� �������
��������������������
�=	��������
��
�� ��
�
6�
�
���������
�����
����5��
���G�	
�������	����
�����5� ��������
��������
���������	�� ����
��
�����
�����5��
� ��� �����
��� ��� ���
������� 	G������ ���� ��
 � ��� �+
� ����� ����� �� �����6� ��� ���
�� ���
������	�
������ �
��
��
��7���������������� 
�	
��
� ����
�����	���
���������������������5��
��
 7���2������� ��
5���
���� ����������� ����� ��� ���
��� ���� ���� ����6�<
�� �
 ��
���	��� ��� ��5
�
��� �
�� ��5��
�� ��	��7�� �� ����
������� ��� �
�� ������� 
���	��� ��� ���� 
�������� ��� ��� �
�������
&� ����	���
�������
��
�����1��������6�
�
����
��7�����5�����	
��5��	
������
��
����������
�� 
��������5����	����
���������
�����
�!��@��	�����������
�
���
������	����
���
��
���� � ���	���
���
��1 ��
����&�1�0��������	����6�
�!��&��5������������	������
��
6�
�!��-
 ������������� ����
�
<
�� �
�	
�� ������� ��������
�� ��� ����� 	�� ��	��� ��� � ������ �
����	��� ��� �
�� ���
� ���
	�� ��	�����������
��
6�

�

E� 	�) �0*�����*�� ����/���� ���+*��

E���	�) �0*�������������*�#$��� ����/���� ���+*���$ ������ ��$�+*� �

�

�	������	
���
��	�
�

�

���	��	�	����

�F1������������
�F������

��	���������	�F�	�
�

��	��
�����-���	�� ;������� #6�9�������-��	�������1 ��
����&�1�
�6&�

�6���	��5�� �����	���
���
�



�

��������%�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

����	�����
���
���
��=���
6�

$6���	�����������	
�����������
���	�������
���6�

1��
� ���:�� ��	������ :�� ��	���� #6�9�������-��	�������1 ��
����&�1�
�6&�

�6���	�
�P����������
�������
�� ����	���
���0���������5����6�

J���
��"������	��� 1� ����	� ��	�������G��
�������
�
�� ���	
�

#6�9�������-��	�������1 ��
����&�1�
�6&�

�6�@����������	���G����������5�����0�
��������	�
�P��6�

-���������������"���5
� �� ��	���� #6�9�������-��	�������1 ��
����&�1�
�6&�

�6�1��
� ���	�� ��	�����6�

$6�J���
�"������	�6�

*6�&�����������	���G��������	�
�P������
����
��������� ����	���
�������
��5�����0��������������
�����������5
�
������	����6�

��	��
�����������
�� ����������
�����	��
��
�������&�1�0������
��
��

;������� #6�9�������-��	�������1 ��
����&�1�
�6&�

�6���������	�
�P������1 ��
����&�1�
�6&�0������5����6�

�

�

��+*� ��)��*����� ��*$��+*� ������*�������<�4�
�$��) �� ��

�

�

�

�

&�����

#6�9�������-��	�������1 ��
����&�1�
�6&�

�6���������	�
�P������1 ��
����&�1�
�6&�0������5����6�

�

��� �+������ 0� �����������*�+��*����� ��
) �� ��

�

Q��������� #6�9�������-��	�������1 ��
����&�1�
�6&�

�6�1��
� ���	�� ��	�����6�

$6�@����������	���G����������5�����0�
��������	�
�P��6�

"��
�	������
 ���
��������� ����	��������
���
��������	��
���	
������
��
�����
��������
���	����������0������ ���	
�������
��
�

�

@����
�

#6�9�������-��	�������1 ��
����&�1�
�6&�

�6���	�
�P����������
�������
�� ����	���
���0���������5����6�



�

��������$�	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

�

���
����
����(����������0��������������

�

&�����

#6�9�������-��	�������1 ��
����&�1�
�6&�

�6�9���������������������	���������
��������������
���6�

�

/6��"G5� ����������2�����������������
��
�

��5��� ��� -��=	��
�111�� �������� �11��&�	=���
�#��� �� � ���<�0�"�5����
��� ���� ;�����
� ��� ���
�����%<
��
����� ���	
��2��� �������� � �
�� � � �
��
�� � � ��� � ������ ���� � � ��
������	��� ��� ��� ��2��������� ��� 	=	��
��
���
����� 2��� 0�� ��	G�� ��4�	
�� ��� � ����	
� ����
� �
� ��� ����� ���	
�� �������
� ��� � ��� �����
� �?� ����
��	=���
� �$� ��� ���<�0�8R� /�.��� � ��� �#� ��� ������ ���# .FF�� � 
�2��� ��	G�� �3��	
�� ��� ����
� � ����	
���
��	��7�� �3���	���
�� ��� ����2����� 
	�
� 	����	
� ���	� �	
� ���� � ����	
� �
���� ��� ���	�� ����
�������
������	
������� �� ����0���	���6�

<
�� ����� ���	
�� ��������
�� �
�� �
�� �
��
�� ��� ����� ����� ��
������	��� ��� 	=	��
�� ���
���� �� 
	�
��
��	��
��2�����2�������0�2��� �
���	G�� ��4�	
����� � � ���	
� ����
� �
���� ����� ���	
�� ������� ��	��
��
2�����7�� ��4�	
�� �� ��� � ����	
� ����
� 0� ������	��
�� �
�� ���� 	������ ���� ����
� K� >CK?6� � <�� �����
� �
���������7���� 
�	
�	
	������������	��
��
����� �� ���	
��������	��
����
 ������
�����������
��

�����	
��������
������������
��
�������������6�

<���5��������� ��� ����	��� 5��������� �
�� ��� ���4����� ���� �
�� ����2����� 	=	��
� ��� ��	��
�� ���� �
��
��
��	��7����4�	��������� ����	
�����
�0�������	��
��
 ������	��������������
�K�>CK?6�<��������� �
������
���7�����������������	���������
��������4��������0� ������
����5��	���
��������
�	��������������������� ��
������	����������6���

<
�� � ����	
�� ������	
�� ��� �
�� �7����
�� ��5���
� 0� 	 �����
� ��� ��	�� ��	=���
�� ��� ��������7�� �
�� ���
 G	
�
�������������������	�� ��������0���5
�������5 
������
��
����������������
��������=
�
��������
 �������0������5��7���
��������5����	�����5�����

�?� � <�� ������������ 4������ �����7� ������	����� ���	�
 � ��� �
�� ��� ��
�� ���
� �=��� �7������ ����  ���
��5����	�� �� �2���� ���2��� ���5������
�� �
�� ����� ��� 	
�� 
� ����5��������� ��� ����	���5��������� ���

�
����������������7��������������������
���5���
����	 ����	�����6�

�?����	
��� ����	
�����7���� ����	���
���
�����@��� ������������������:����	������@����	�6�����(
����
�4���	��
� 2����� ��	
��
��
� ����� ��5�� ��	��� ����
�� � ����	
��� �������
�� � �
��  G	
�
��
	G����� ��	������	��������������������������	��
�6�

�?�<
���
��
�����������������	��7���3��	
������
���  ����	
�����	������
�������������������2���������

����	�������	��
�6��&�� �� 
���
���	��7����4�	
��� ��� ����	
������	��
��������� ��������������	
����
�����	=���
�FF�������<�0�8R�/�.�6�

�?� <
�� ����� ���	
��� ��������
�� 0� 5��������� ��� ���� 	��� 5������
�� �
�� ���� ���	�������
���� ��� �
��
�
��
�����������������	��7���3
�����
�����	
�
�	��� �	
6S�

�
�



�

����������	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

G� 	�) �0*������ -����*�� ����*����0����+�*� �*�4��$�1 �$� ����*����� �

G���	�) �0*������ -����*�� ����*����0����+�*� �*�

������� ����

@
 �����
������)
�G������)
�G��&�������(�� �����-�� ���-��	����0���5�������������
�
����
�1 ��
��6�
�:��G�
�
�� ��F*!*����� ��3� ��.�!�CC�� &���	��
� �
�	�� � 8
� CFF!�#��� ����
��������
���
��
�����
�-
���
�����	�����
T�����U� ��
��6�
 �
�(75����V���T�PPP6� ��
��6�
 �

1�$� �)��*����� �*��#$��
���+������

�
����
����������
�1 ��
����6&6�

�������*����*��� ���+*��
��� ����
� ���������
�1 ��
���� �6&6� ��� ��� ����
� �
��
 � ���1 ��
��� �6&6�616�� �6&6� ���
�
����� ��� #��K� ���� ����	��� �
������ ��	�� �
 �
������ � ����
������ ��� ��� �
�������
�� ����	���
��� ���� ��	
��
����� �
�� ���	�� ��� ��� ���� ���	��������� �������� ���
���
����� �����	�����
����������!"!$�C��
���������� ���F����)���
��������#6���

��������+*�+����&*� �

�4������ ��� ��������	������ 4�������� 0� �3	��4�������� ��� 1 ��
��� �&�1� 0� �
��
��
�����
�� 5������=�� 
�� ���� �= �	�� ��� �� �� ������� 
� ��	���� ��� �
� ��
�
�4��	��
�������������

·  ;���������9�	�+
�(��	
��(�������	����������
������� ���
�1 ��
����
·  ;������
�E�����)� G��
��������������	��
·  )�� ��,������-���
�������	���������6�

�
(
�������������� �	��
�

·  )
�G�"
��=5��
��7����
6�

��+�$�+$�*� �&*��,*�� �*��

1����+��1����*��
�

)�� ��,������-���
�
�

� 
 0-�������*�*�0��0-� � �*�& �

:$�+*������+�/*�

;���������9�	�+
�(��	
�� (�������	��
;������
�E�����)� G��
� ������������	��
�=�	
��V�	W����(����� �����	���
��
-���
��;
�	
0��@
����� :��
���
��
�����	�� �
����,�
��
�������
����5���-������� �
����@
��
;��������@���
��;��	���� �
����:����
�����
�8����4
�)� G��
� �
����-��	�
�

&��
��
�-� ���
�-��	�
�
�������
�

�

�

�

�

�


 0-�������*�*�0��0-� ��

�

�*�& �

;���������9�	�+
�(��	
�>��3������������������ �
�
��������������
����0����	� ������������
���������
� ?�

(�������	�� ���� ����
�
���������
�1 ��
���

&���&�����E�����	���>�3�������������������
��
����� � �����	�� ���������
� ���
1� 
��������� �����
 6�



�

����������	
������
���
�������
�������	��	
����

�� ���������

������	�����������
����

� �

�

�

�

�

� 0�+%������/�������

��
0��	
���� 
�������
�?� ;�� ��
�1����������	��

;�3� �������� � >�3���������� ��� � ������� ���
������������� �
 �������
������� �
��	�������� ��
���	����������	�?�

(�������	�� ��� ��� )��	��
@����	���� ��� -
����	
�
1����	����� �6&6� 0� �����	
��
��� <�� )��	��@����	���� ���
-
��	���	
��� ;�-9�
�6&6> �� ��
�
�����������	�?�

)�� ��;
�����,��
�� �>(
�������� � � ����� �3����������
������ �����
�������������=����0��������
��	������� ?�

(�������	�� �
�
����
� ���
��� -7 ���� ��� ���
-
��	�������� 0� ���
�3��������	��������,�����
��� -7 ����� ��� ���
� ������ (�������
> �� ��
�
�����������	�?6�

�

G�(��+�*��� 0�*=2*�� ��� )��� �*����#$������+*����� /��� ��*��) �� �

�$��+ ���7+��� �

1 ��
����&�1��
@��
�		�� X� :
�����6� E����
� @��	�� ���� (���
�� $��/!#� ��� ���� )
�G�� -
�	�� "��� �
:���>C��?��*�!C������3�>C��?��*�!C#���
��4� ���
U���
�		�6�
 �Y�PPP6���
�		�6�
 �
�
1 ��
��� �
��
� ���1���������8
�@�����������
�1� 
��� ����
� :����@������
��<����
�����	����6-��;�� ��
�����J
�P�	��1�	������
���6�-( &������5
��<��6�)����-���
��
<����(6��Z��$.�������##�����)
�G�-
�	��"���6��&���	 ��
�(
�	���/#�/!#��������)
�G�
[�-
�	��"���6�:��G�
�
��>C��?����#!*�C/6����3��>C�� ?���$$!F�/�6 �

���� ������&*���<�*�*���+*��
��+���*�� �*����4� +� ��
�� )��� �*�����

&���
����<�5�����
�
E���	��-��	�
� ��������X�&�
����
�6�&�
5��
������5
� �<��6�\����
� � ���
�-��	�
6�
E����
� �������	�6�@�� ���15������ ���	�� :�����	��� ��� �  �	�
�� ��	��0�#���  �	�
�� ���
���6�&���	��
� (
�	��� //C!#���6� :��G�
�
�>C��?� ����! #.!#.6� ��3�>C��?� ����!#*!
$�6�
�
E���	�� <����� <���
�� ;�	� 
�
��� "
��=5��
� 0� :��
�
6� � &�
5��
� �� ���5
�� <��6�
"
���	
�<���� �� �
6�@���������� ����)
�G�� ����
��� :� �4
�� ;
�	�����5���-��	�
�
-
��
��	��
����-������:
����*�(��
�$6�:��G�
�
��*�� #!*C��6���3��*��#!*C*C�
�

F6$�&� ����	�����������
�����	
������	�������

� �2+��*��� -���� �)���+ ����
��+���������
��� 0�*+�-����*����

<��� �
�=	����� ��� �
�����	
� ��� ��	������� �� ���
 ��	� ���������� ����
�� ���
������
�
�����)��	��@����	��������$�����
��� �����������.� 0����������	�����������-���5
�
��� E���� �
�����
� -
��
��	��
� ��� ����� � ������ �
����	 ����� ��� ��� ��	�
� V����
PPP6� ��
��6�
 ���������������������
� �������
��
� �	���6���

�






